et EXO0

X4 EFTPERRGER/NEEZPRSHETE-BR: 1F (KKREEAF->1F)

PNA21-01-#£f&: 1F , #£K5%: C11, SIiEFa%: 31 [X3:-242,Y8:+224] R~t: 80 cm * 90 cm, #£&: 380.0 cm

#10 F (5 1HR-— AR B): (380+0)*16/100 60.80
| FH+HEE(Lg)(FBE
[#E#=0))
#4 sMERR- £ T i 5V R EE ()= (80+90)*2-8*4+2*13.89=335.8 53.72
E; £ FHEEE= Int(((380-80)/2)/10.0)+1=16
£ T R= 335.816/100=53.72 M
#4 VAR il LipdesE 5\ & BE (5 72)= (80+90)*2-8*4+2*13.89=335.8 36.94
g rh SR 5 B B8= Int(((380-80)/2)/15.0)+1=11
th e R = 335.8*11/100=36.94 M
#4 sMER-BRE 5V R BE ()= (80+90)*2-8*4+2*13.89=335.8 26.86
E; (Int(80/10))*335.8/100=26.86 M
BHEBEHERE-KERE | XCOKP)MEE(FRE)= (80-2*[{RERE]4+2*[135E E4$7]13.9)
< A *2=199.6 .
Y(EE)AREE(F )= (90-2*[{REB]4+2*[135F #4$4]13.9)
*2=219.6
#4 B5- LT #4_F T B 8= Int(((380-80)/2)/10.0)+1=16 67.1
< E TR R= (199.6+219.6)*16/100=67.1 M
#4 Bin-rp i #4h R IHE 2= Int(((380-80)/2)/15.0)+1=11 46.1
<7 th QiR = (199.6+219.6)*11/100=46.1 M
#4 BH-RERE HAR B EHE R =(199.6+219.6)*Int(80/10)/100= 33.53 M 335
BERHE:

EEREHER1)16-#10 ($B2)X-#X
ABHEH:(H1)16-#10 ($B2)X-#X
B (1)#8:10-10716%
EARETE:
FHEHR:(80+90)*2*380/10000=12.92 M2
HREEEMR I
%:1;:8:-(G10) 50*60/10000=0.30
%:2;8:-(G20) 50*80/10000=0.40
%:358:-(G28) 50*80/10000=0.40
%:458:-(B15) 50*80/10000=0.40
L E/NET:1.50 M2
RS R
%:158:40.00*16/10000=0.0640
%:258:30.00*16/10000=0.0480
%:358:40.00*16/10000=0.0640
%:458:30.00*16/10000=0.0480
Ll E/NEH:0.2240 M2
SRR
Ll E/NEF0.00 M2
$Eﬁlxi+ﬁ§:§+:1 2.92-[#FHR3T $]1.50-[#F ke 32 $%]0.22-[#F #% 38 $%£]0.00=11.20 M2
RCEH&E:
80%90*380/1000000= 2.736 M3
-------------- T EAER DA
HEEt AR
#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#10=60.800 M (60.800 M*6.390/1000= 0.3885 T)
SHAR/NET = 06511 T
ERR/NVEH(E) = 11.20 M2
BT /NG =2.736 M3

PNA21-01-#&/8: 1F , #:4t5%: C16, fIEF5%: 60 [X8:+19,Y5:+188] R~: 90 cm * 80 cm , #£5: 380.0 cm
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#10 F (5 14R-—HEB): (380+0)*16/100 60.80
| T H+EE(Lg)(HEHE
[#&#%=0])
#4 SV - £ T i 5\ (F %)= (90+80)*2-8%4+2*13.89=335.8 53.72
g T = Int(((380-80)/2)/10.0)+1=16
F T K= 335.816/100=53.72 M
#4 SME - R SR E(H )= (90+80)*2-8*4+2*13.89=335.8 36.94
g rh J 4 28= Int(((380-80)/2)/15.0)+1=11
th e K= 335.8*11/100=36.94 M
#4 VAS il R 55 R BE ()= (90+80)*2-8*4+2%13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
BHEFER-KTERE | XOKE)AEEFGRIE)= (90-2*[{RERB]14+2*[135EF E$7]13.9)
</ [EE *2=219.6 ]
Y(EE)ERE(FBE)= (80-2* [{R#[B14+2*[135F £ £4]13.9)
*2=199.6
#4 Bip-LTim #4 £ T ixE 2= Int(((380-80)/2)/10.0)+1=16 67.1
</ TR R= (219.6+199.6)*16/100=67.1 M
#4 BE-hRim #4rh IR B EL= Int(((380-80)/2)/15.0)+1=11 46.1
</ th JifkiE R = (219.6+199.6)*11/100=46.1 M
#4 BH-RER HARZ [ERE R =(219.6+199.6)*Int(80/10)/100= 33.53 M 335

RSt R:

EEERH:(HR1)16-#8 (FH2)X-#X
ABEEF:(FE1)16-#10 ($H2)X-#X
IR (1)1:10-8"163

BhRETE:

F 1% hr:(90+80)*2*380/10000=12.92 M2

HEEEAR MO

%:158:-(G11) 50*80/10000=0.40
5:25%:-(B11) 50*80/10000=0.40
%:358:-(G12) 50*80/10000=0.40
LLE/VET:1.20 M2

MR AR MR O PR

%5:25%:40.00*16/10000=0.0640
%5:35%:30.00*16/10000=0.0480
%5:45%:40.00*16/10000=0.0640
LLE/NET:0.1760 M2

RS E AR MR O PR:

1 (B orBZ2):=10%(10-0)/10000=0.01
2 (E B orEZ):=15%(120-0)/10000=0.18
IS 3(FRE )-:G11=25%(380-80)/10000=0.75
IS 4 (KK )-:B11=25%(380-80)/10000=0.75
LLE/NET1.69 M2
WEARAEET:12.92-[FE R 3 $5]1.20-[#F hR 32 $£]0.18-[#E #5 32 $%]1.69=9.85 M2

RC:tH&E:

90*80*380/1000000= 2.736 M3

MEETEER:

#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#10=60.800 M (60.800 M*6.390/1000= 0.3885 T)

$MfR/NET =06511 T
HBAR/NET(E) = 9.85 M2
SR NET = 2.736 M3

PNA21-01-#£f&: 1F , #£4K5%: C19, fIE 3% 64 [X10:+202,Y5:+44] R~t: 90 cm * 80 cm, #&: 380.0 cm

U

#10 ER(BEE-—RE): (380+0)*16/100 60.80
| T+ R (Lo (B IS
0]
N iEf- L T in %?ﬁﬁg(ﬁﬁ?F (90+80)*2-8*4+2%13.89=335.8 53.72

+ THERE2= Int(((380-80)/2)/10.0)+1=16
L FHE# K= 335.816/100=53.72 M
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#4 SMER-H R SR EE (5 72)= (90+80)*2-8*4+2*13.89=335.8 36.94
@ rh 5B 2%= Int(((380-80)/2)/15.0)+1=11
th R fE4E K= 335.8%11/100=36.94 M
#4 VAS il e S\ E(F#2)= (90+80)*2-8*4+2%13.89=335.8 26.86
@ (Int(80/10))*335.8/100=26.86 M
BHEHGR-KFERE | XOKF)AREFRE)= (90-2 [(RERB4+2*[135EF & £4]13.9)
<7 EM *2=219.6 ]
Y(EE)ARE )= (80-2 R EB]4+2*[135F & $7]13.9)
*2=199.6
#4 B - LT #4_E T i $= Int(((380-80)/2)/10.0)+1=16 67.1
</ Tk K= (219.6+199.6)*16/100=67.1 M
#4 BE-PRin #4rh R B EE= Int(((380-80)/2)/15.0)+1=11 46.1
<7 th JifkiE R = (219.6+199.6)*11/100=46.1 M
#4 BH-BERE #ARZ EHE R =(219.6+199.6)*Int(80/10)/100= 33.53 M 335
fEESTE:

EEEEH:(HR1)16-#8 (FH2)X#X
ABAEH:($01)16-#10 ($82)X-#X
BRI (1)5H:10-8*16%
BhRET &
FH8HR:(90+80)*2*380/10000=12.92 M2
PR E AR MO RR:
25:1i8:-(B13) 50*80/10000=0.40
2:2i8:-(G11) 50*80/10000=0.40
Ll _E/VE:0.80 M2
FERRE BEAR MR 0 B
25:3i8:30.00*16/10000=0.0480
25:438:40.00*16/10000=0.0640
LU E/NEF0.1120 M2
AN E AR R O B
IS 1(FRE)-:B13=25%(380-80)/10000=0.75
B 2(FRE)-:G11=25%(380-80)/10000=0.75
LL_E/NER1.50 M2
ﬁm%rﬁg?m 2.92-[##R3 $%10.80-[#E iR 33 $£]0.11-[#F 45 32 $£]1.50=10.51 M2
RCEE:
90*80*380/1000000= 2.736 M3

Mt EHER:
#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#10=60.800 M (60.800 M*6.390/1000= 0.3885 T)
$MER/NET =0.6511 T
BAR/NVET(E) = 10.51 M2
iR /INE =2.736 M3

PNA21-01-#&[&: 1F , $£188%: C16, fIB F5%: 54 [X6:-164,Y6:-168] R~F: 90 cm * 80 cm , #&: 380.0 cm

#10 FER(E1HE-—REB): (380+0)*16/100 60.80
| E+ERE(Lg) (1B
[#&#£=0])
#4 SMERR-L T i SMERE(H )= (90+80)*2-8*4+2*13.89=335.8 53.72
g + THERE2= Int(((380-80)/2)/10.0)+1=16
I FHEf K= 335.816/100=53.72 M
#4 SV - R SMERE(H )= (90+80)*2-8*4+2*13.89=335.8 36.94
g th RG] 28= Int(((380-80)/2)/15.0)+1=11
th R fERE K= 335.8*11/100=36.94 M
#4 SME - HMERE(H )= (90+80)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
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EmEBERR-KER,E XOKFE)ERE(HHAE)= (90-2*[{R#B]4+2*[135E & $7]13.9)
< B *2=219.6 )
Y(BE)EERE(HHAE)= (80-2* IR HEB4+2*[1355 E£4]13.9)
*2=199.6
#4 BE- Tk #4 & T 85 B 2= Int(((380-80)/2)/10.0)+1=16 67.1
<2 L Ti#E= (219.6+199.6)16/100=67.1 M
#4 B-rh i #4th R IHE = Int(((380-80)/2)/15.0)+1=11 46.1
<7 oh SR i85 = (219.6+199.6)*11/100=46.1 M
#4 BE-BEE HAREEE=(219.6+199.6)*Int(80/10)/100= 33.53 M 33.5
FEEHE

EBRER(11)16-48 (#A2)X-#X
ABHEIE:(H1)16-#10 ($H2)X-#X
B RE(1)48:10-816%

BhREHE:

F 1 hR:(90+80)*2*380/10000=12.92 M2

HEEERAR MO

%:15%:-(G12) 50*80/10000=0.40
%:25%:-(B11) 50*80/10000=0.40
%:35%:-(G12) 50*80/10000=0.40
LLE/NVE:1.20 M2

HERRE R AR R 0 PR:

%:25%:40.00*16/10000=0.0640
%:35%:30.00*16/10000=0.0480
%:45%:40.00*16/10000=0.0640
LLE/VET:0.1760 M2

HEAS B R AR M O BR:

1 (B orEZ):=15%(10-0)/10000=0.02

2 (H BorEZ):=15%(120-0)/10000=0.18

B 3(MRE )-:S5=10%(10-10)/10000=0.00

Ll _E/VEF:0.20 M2
WARABET:12.92-[FE A $5]1.20-[#F hR 32 $10.18- [ 15 38 $%]0.20=11.35 M2

RCEHE:

90*80*380/1000000= 2.736 M3

MArEt HAER:

#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#10=60.800 M (60.800 M*6.390/1000= 0.3885 T)

$MER/NET =0.6511 T

BAR/NEH(E) = 11.35 M2

B /e =2.736 M3

PNA21-01-#£[&: 1F , #5885 C8, SIBEFF5%: 17 [X2:-2,Y8:-116] R~: 80 cm * 90 cm , 45 380.0 cm

#8 EHH(E14A-—ARE): (380+0)*18/100 68.40
| E+ERE(Lg) (1B
[#&$£=0])
#4 S\ A5 - £ T i s\iER B ()= (80+90)*2-8*4+2*13.89=335.8 53.72
g L+ THEEIE= Int(((380-80)/2)/10.0)+1=16
I T K= 335.816/100=53.72 M
#4 HME - R s\ER B ()= (80+90)*2-8*4+2*13.89=335.8 36.94
g o SRR EE= Int(((380-80)/2)/15.0)+1=11
th R fERE K= 335.8*11/100=36.94 M
#4 SV G RR-BR 5\ {5 R BE (7 72)= (80+90)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
BHEBEHER-KERE | XOKE)AEEGRIE)= (80-2*[{REE]14+2*[135E & £7]13.9)
</ Em[ *2=199.6 .
Y(EE)EREE(HBE)= (90-2*[{R#[B14+2*[135 £ £]13.9)
*2=219.6
#4 Bi5-ETig #4 T imE 8= Int(((380-80)/2)/10.0)+1=16 67.1
</ ETim#ER= (199.6+219.6)*16/100=67.1 M
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#4 BRH-h Rk #4oh RinEE= Int(((380-80)/2)/15.0)+1=11 46.1
< / P Rin#E K= (199.6+219.6)*11/100=46.1 M
#4 BH-REE HARRZ R R=(199.6+219.6)*Int(80/10)/100= 33.53 M 33.5
faEsRa®E:

LR (H1)18-#8 (FH2)X-#X

AR (H1)18-#8 (FH2)X-#X

EIEARE(1)1:8-8"18%
Rhrat H:

F 1% hfr:(80+90)*2*380/10000=12.92 M2

PR E AR MO RR:
%:138:-(G7) 50*80/10000=0.40
%:2;8:-(B7) 50*70/10000=0.35
:3i%:-(B8) 50*50/10000=0.25
Ll _E/NEF:1.00 M2

FERRE AR MR 0 B
%5:1%:40.00*16/10000=0.0640
5:23%:30.00*16/10000=0.0480
%5:3:%:90.00*16/10000=0.1440
5:4;%:30.00*16/10000=0.0480
Ll _E/NEF:0.3040 M2

RS E AR M0 R

E S 1 (FRE)-:B8=15%(380-50)/10000=0.50
E I 2(ARE )-:S4=15%(380-16)/10000=0.55
E R 3(FRE)-:B7=12%(35-35)/10000=0.00

Ll E/NET:1.04 M2

AR AEET:12.92-[FE R 3 $5]1.00-[#F iR 32 $10.30- [ 15 38 $%]1.04=10.58 M2

RCEHE&E:
80*90*380/1000000= 2.736 M3

Mt HAER:

#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#8=68.400 M (68.400 M*3.980/1000= 0.2722 T)

SMER/INET = 05349 T
BAR/INET(E) = 10.58 M2
iR /INE =2.736 M3

PNA21-01-#8&: 1F , #5885 C3, SIEFF5%: 4 [X1:4138,Y8:-116] R~F: 80 cm * 50 cm , #&: 380.0 cm

#10 TH(FE1HE-EEE (380+0.00)*12/100 45.60
r FE) 2 5+ 00 R B3
TE(MBIE[EE=0))
#4 sMER- £ T i SV R EE (B )= (80+50)*2-8*4+2*13.89=255.8 40.92
g E THEEE= Int(((380-75)/2)/10.0)+1=16
L+ TiEfER= 255.816/100=40.92 M
#4 SMERR-h R SV R EE(H )= (80+50)*2-8*4+2*13.89=255.8 28.14
g th R G 2= Int(((380-75)/2)/15.0)+1=11
rhRfEiE K= 255.8*11/100=28.14 M
#4 SN ERR-RE SV R EE (B )= (80+50)*2-8*4+2*13.89=255.8 17.90
g (Int(75/10))*255.8/100=17.90 M
BHEHR-KERE | XOKP)MEEF )= (80-2*[{RERE]4+2[135E E4$7]13.9)
<7 B[ *2=199.6 ]
Y(EE)EREE(HBE)= (50-2*[{R#[B14+2*[135E & £7]13.9)
*2=139.6
#4 B5- LT #4_F TR 8= Int(((380-75)/2)/10.0)+1=16 54.3
</ ETin#E K= (199.6+139.6)*16/100=54.3 M
#4 BB W-h R R #A4TH R 5 8= Int(((380-75)/2)/15.0)+1=11 37.3
<2 rhRiG#E K= (199.6+139.6)*11/100=37.3 M
#4 BH-BRERE #ARZEHE R =(199.6+139.6)*Int(75/10)/100= 23.74 M 23.7
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BRI R
LR EH:(B1)X-#X (FB2)X-#X
ABHEH(FR1)12-#10 (HB2)X-#X
TEEARE(1)M:10-T12x%
HARETE:
FHEHR:(80+50)*2*380/10000=9.88 M2
R EEEMR IR
%:1;8:-(G3) 50*75/10000=0.38
%:2;8:-(B8a) 70*50/10000=0.35
%:358:-(b0) 30*45/10000=0.14
KL E/VET:0.86 M2

RS R
%:258:10.00*16/10000=0.0160
%:358:20.00*16/10000=0.0320
Ll E/hEH0.0480 M2

SRR R

E RIS 1 (FRE)--B8a=15%(380-50)/10000=0.50
EHE IS 2(FRE)--G3=15%(380-75)/10000=0.46
E RS 3(FRE )-:b0=15%(60-45)/10000=0.02

LA E/VEE:0.98 M2

¥R A8 ET:9.88-[#E 4R 3 $%]0.86-[#E hin 32 $#£]0.05-[#% 5 32 $%]0.98=8.00 M2

RC:tH&E:
80*50*380/1000000= 1.520 M3

et EAER:

#4=202.268 M (202.268 M*0.994/1000= 0.2011 T)
#10=45.600 M (45.600 M*6.390/1000= 0.2914 T)

ARG =0.4924 T
EAR/MVEH(E) = 8.00 M2
R /NG = 1.520 M3

PNA21-01-#&/8: 1F , #4t5%: C2, i@ F5%: 27 [X3:-22,Y5:-161] R~f: 80 cm * 90 cm , 45 380.0 cm

#10 F (5 1HR-—HEB): (380+0)*18/100 68.40
| T Hr -+ (Lg)(HEHE
[#&#=0])
#4 S\ RS- £ T i SR EE ()= (80+90)*2-8*4+2*13.89=335.8 53.72
@ T E= Int(((380-80)/2)/10.0)+1=16
T K= 335.8%16/100=53.72 M
#4 HME - R SR E ()= (80+90)*2-8*4+2*13.89=335.8 36.94
@ R EE 2= Int(((380-80)/2)/15.0)+1=11
iR R = 335.8*11/100=36.94 M
#4 SNERR-RE S\ B (A 4)= (80+90)*2-8*4+2*13.89=335.8 26.86
@ (Int(80/10))*335.8/100=26.86 M
BHEER-KTERE | XOKFE)AEE(HGRIE)= (80-2*[{RERB14+2*[135E E4£7]13.9)
< B[ *2=199.6 .
Y(EHE)ERE(FTH)= (90-2*[{R#E[B]4+2*[135E $4]13.9)
*2=219.6
#4 B5- £ T #4_t TR 2= Int(((380-80)/2)/10.0)+1=16 67.1
</ L TFig#E K= (199.6+219.6)*16/100=67.1 M
#4 Bih-h Rki% #4rh RIHEIBE= Int(((380-80)/2)/15.0)+1=11 46.1
<7 PR R= (199.6+219.6)*11/100=46.1 M
#4 BH-BEE HARZ [ERER=(199.6+219.6)*Int(80/10)/100= 33.53 M 33.5
BESTE:

EBREEH:HE1)18-#10 (#H2)X-#X
ABEER:(FE1)18-#10 ($82)X-#X
{EIEER5(1)48:10-10718%
EhRETE:
F 4 hk:(80+90)*2*380/10000=12.92 M2
FERRE R IR IORR:
%:13%:-(G1) 50*80/10000=0.40
55:2i%:-(G2) 50*80/10000=0.40
%5:3i%:-(B3) 50*80/10000=0.40
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LLE/NEE:1.20 M2
FERRE IR IR IO PR
%:1i%:40.00%16/10000=0.0640
%:2i%:80.00%16/10000=0.1280
%:3i%:40.00%16/10000=0.0640
%:4i%:30.00%16/10000=0.0480
LL_E/VEH:0.3040 M2
NS B AR IO
EREE:1(FE SorE ZE):=15%(10-0)/10000=0.02
EREE:2(F SorE ZE):=15%(120-0)/10000=0.18
LA E/VET:0.20 M2
$§H&+ﬁ§:§+:12.92-ﬁiﬁ€ R 1E]1.20-[AE kR 3 $%]0.30-[#F 1% XX $%]0.20=11.22 M2
RC:EtH&E:
80*90*380/1000000= 2.736 M3
-------------- R R 0] N —
st EHR:
#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#10=68.400 M (68.400 M*6.390/1000= 0.4371 T)
SMAR/INET =0.6997 T
BAR/NEH(E) = 11.22 M2
R /NET = 2.736 M3

PNA21-01-#&/8: 1F , #4858 C1, LB F55%: 26 [X3:-22,Y3:+9] R~: 80 cm * 90 cm , #£5: 380.0 cm

#8 ERF(E14-—HRE): (380+0)*18/100 68.40
| FHr -+ (Lg)(HEHE
[#&#=0])
#4 S\ RS- £ T i SR EE ()= (80+90)*2-8*4+2*13.89=335.8 53.72
@ L+ THE = Int(((380-80)/2)/10.0)+1=16
T K= 335.8%16/100=53.72 M
#4 SMERR-h R S\ B (H4)= (80+90)*2-8*4+2*13.89=335.8 36.94
@ R EE 2= Int(((380-80)/2)/15.0)+1=11
R iERE R = 335.8*11/100=36.94 M
#4 SMER-RE S\ R E(H )= (80+90)*2-8*4+2*13.89=335.8 26.86
@ (Int(80/10))*335.8/100=26.86 M
BHEBERER-KFER,E | XOKE)EEEGRI)= (80-2*[{REREB]4+2*[135E &4$7]13.9)
<2 [EA *2=199.6 )
Y(EE)E K E (4= (90-2*[{R#B14+2* 135 E£4$5]13.9)
*2=219.6
#4 855 T iF #4_F TR E 2= Int(((380-80)/2)/10.0)+1=16 67.1
</ Lt TFig#E K= (199.6+219.6)*16/100=67.1 M
#4 BE-PRim #4rh R B Eh= Int(((380-80)/2)/15.0)+1=11 46.1
<7 PR iR = (199.6+219.6)*11/100=46.1 M
#4 B5-BREE HARZ [ERE R =(199.6+219.6)*Int(80/10)/100= 33.53 M 335
BERTE:

FEREER(R1)18-#8 (FH2)X-#X
REHEFH($1)18-#8 (FH2)X-#X
1EERE(1)4:8-8718%

BARETHE:
FHEAR:(80+90)*2*380/10000=12.92 M2
B IR IO R

%:13%:-(CG1) 50*70/10000=0.35
%:2i%:-(G1) 50*80/10000=0.40
%:3i8:-(B1) 50*80/10000=0.40
LLE/NET1.15 M2
FERREIE AR IR OB
%:1i%:40.00*16/10000=0.0640
%:3i%:40.00*16/10000=0.0640
%:4i%:30.00*16/10000=0.0480
LLENET:0.1760 M2
NS E IR AR IO R
TE 1 (R E)-:G1=15%(10-10)/10000=0.00
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EHEE:2(FESorEZE):=15%(10-0)/10000=0.02
KL E/NVET:0.02 M2
$§H§ﬁ§:§+:1 2.92-[#E R $#E]1.15-[#E IR 33 $]0.18-[#E 15 32 $%]0.02=11.58 M2
RCEH&E:
80*90*380/1000000= 2.736 M3

At EHER:
#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#8=68.400 M (68.400 M*3.980/1000= 0.2722 T)
$ARR/INET = 05349 T
BAR/MEH(E) = 11.58 M2
R /NET = 2.736 M3

PNA21-01-#&/8: 1F , #4t5%: C1, fIEF5%: 1 [X1:+118,Y3:+9] R~F: 80 cm * 90 cm , ¥ &: 380.0 cm

#8 x (5 14R-—HEB): (380+0)*18/100 68.40
| g (Lo (B
[#&#=0])
#4 SMER-L T ik SR E ()= (80+90)*2-8*4+2*13.89=335.8 53.72
@ T E= Int(((380-80)/2)/10.0)+1=16
F T K= 335.816/100=53.72 M
#4 SME - R SR E ()= (80+90)*2-8*4+2*13.89=335.8 36.94
@ rh 4 2k= Int(((380-80)/2)/15.0)+1=11
th e K= 335.8*11/100=36.94 M
#4 SMER-RE 5\ R E(HH2)= (80+90)*2-8*4+2*13.89=335.8 26.86
@ (Int(80/10))*335.8/100=26.86 M
BHEFER-KTERE | XOKFE)AEE(HGRIE)= (80-2*[{RERB]4+2*[135E E£7]13.9)
</ EM[ *2=199.6 ]
Y(EE)AREHRHE)= (90-2[REE4+2*[135E & $5]13.9)
*2=219.6
#4 B5- £ T #4_F T B 2= Int(((380-80)/2)/10.0)+1=16 67.1
</ F i R= (199.6+219.6)*16/100=67.1 M
#4 BE-hRim #4rh IR EIEL= Int(((380-80)/2)/15.0)+1=11 46.1
<7 R iR = (199.6+219.6)*11/100=46.1 M
#4 BH-REE HARZ [EHE R =(199.6+219.6)*Int(80/10)/100= 33.53 M 33.5
EEHRTE:

EBAEERS(HR1)18-#8 ($B2)X-#X
ABRER:(HH1)18-#8 (FH2)X-#X
BI85 (1)40:8-8*18%
ARETE:
F 18R (80+90)*2*380/10000=12.92 M2
RSB R O
%:138:-(CG1) 50*70/10000=0.35
%:258:-(B2) 50*80/10000=0.40
%£:358:-(G1) 50*80/10000=0.40
LLE/NET1.15 M2
FE RSB HE AR AR FO PR
%£:138:40.00*16/10000=0.0640
%£:258:30.00*16/10000=0.0480
%£:338:40.00*16/10000=0.0640
%£:458:80.00*16/10000=0.1280
LL_E/NET:0.3040 M2
RS E AR M A0 RR:
FEHEIE 1 (FRE )-:B2=15%(380-80)/10000=0.45
2 (H B orE ZE):=15%(190-0)/10000=0.29
i 3R K )-:CS=15%(380-16)/10000=0.55
T AR E )-:CS=15%(380-16)/10000=0.55
LLE/NET1.83 M2
$§Hl%rfﬁ§§+:1 2.92-[#F R HE]1.15-[FE A 33 $]0.30-[#F #% 32 $£]1.83=9.64 M2
RCE&E:
80*90*380/1000000= 2.736 M3
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Mt ERER:

#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#8=68.400 M (68.400 M*3.980/1000= 0.2722 T)

ARR/INET = 05349 T

HBAR/NET(E) = 9.64 M2
SRR /NET = 2.736 M3

PNA21-01-t£f&: 1F , #EK5%: C6, fEFF5k: 14 [X2:-2,Y3:+9] R~F: 80 cm * 90 cm , #7&: 380.0 cm

#8 F (5 1HR-—HEfB): (380+0)*20/100 76.00
| g (Lo (B
[#&#%=0])
#4 SV A5- £ T i SRR EE(HT2)= (80+90)*2-8*4+2*13.89=335.8 53.72
g L+ THEEI = Int(((380-80)/2)/10.0)+1=16
T K= 335.8%16/100=53.72 M
#4 SME - R S\45E R BE (%)= (80+90)*2-8*4+2*13.89=335.8 36.94
g R EEEBR= Int(((380-80)/2)/15.0)+1=11
th iR R = 335.8%11/100=36.94 M
#4 SMERH-RE SV 45E K BE (%)= (80+90)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
EHEBERR-KFR,E | XOKE)MEEGRIE)= (80-2*[{RERB]4+2*[135EF &$7]13.9)
<2 (4G *2=199.6 )
Y(EE)RRE ()= (90-2*[{REE14+2*[135E & §7]13.9)
*2=219.6
#4 - F T #4_F TR 8= Int(((380-80)/2)/10.0)+1=16 67.1
< L TFik#E K= (199.6+219.6)*16/100=67.1 M
#4 B& 7 -th R b #4rh IR B E= Int(((380-80)/2)/15.0)+1=11 46.1
<7 PR = (199.6+219.6)*11/100=46.1 M
#4 Bm-BERE HAR B [EHEK=(199.6+219.6)*Int(80/10)/100= 33.53 M 33.5
BERTE:

EBHER:(11)20-48 (#B2)X-#X
ABHER:(H01)20-4#8 ($A2)X-#X
BIEIRE(1)40:8-8*20%

ERETE:

F12}k:(80+90)*2*380/10000=12.92 M2

FHERGE AR AR ORR:

%:158:-(CG5) 50*70/10000=0.35
%:25%:-(B1) 50*80/10000=0.40
%:35%:-(G5) 50*80/10000=0.40
%:45%:-(B2) 50*80/10000=0.40
LLE/VET:1.55 M2

FERRE AR AR O BR:

%:15%:40.00*16/10000=0.0640
%5:25%:30.00*16/10000=0.0480
%:35%:40.00*16/10000=0.0640
%:45%:30.00*16/10000=0.0480
LL_E/NVET:0.2240 M2

FEHE AR RO PR

B 1(FRE)-:B2=15%(380-80)/10000=0.45
B 2(FRIE )-:B1=15*(380-80)/10000=0.45
B 3(FRE )-:CG5=15%(380-70)/10000=0.47
LLE/NET1.37 M2
AR AEET:12.92- [ R 3 #5]1.55-[#F hR 32 $]0. 22-[#F 8 32 $%]1.37=9.78 M2

RCEH&E:

80*90*380/1000000= 2.736 M3

Mt HAER:

#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#8=76.000 M (76.000 M*3.980/1000= 0.3025 T)

$MER/INET =0.5651 T

BRR/NVET(E) = 9.78 M2
R /NET = 2.736 M3
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PNA21-01-#£f&: 1F , #EK5%: C7, fIEFF5k: 16 [X2:-2,Y6:+169] R~t: 80 cm * 90 cm, #£5: 380.0 cm

#10 TH(EHE-—AEE): (380+0)*18/100 68.40
| g (Lo
[##=0])
#4 SNERS- £ T SNEEE(HT)= (80+90)*2-8*4+2%13.89=335.8 53.72
g T EBE = Int(((380-80)/2)/10.0)+1=16
L+ T E= 335.8%16/100=53.72 M
#4 S5 fR-h R SR E(H )= (80+90)*2-8*4+2%13.89=335.8 36.94
g rh S B 2= Int(((380-80)/2)/15.0)+1=11
R £ = 335.8°11/100=36.94 M
#4 S5 f5- R SR E(H )= (80+90)*2-8*4+2%13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
EHMEBERR-KFR,E | XOKFE)MEEGRIE)= (80-2*[{RERB]4+2*[135EF &$7]13.9)
<7 B *2=199.6 .
Y(BE)AEE(H )= (90-2* (R E4+2*[135E &45]13.9)
*2=219.6
#4 8- T i #4 - T4 EBh= Int(((380-80)/2)/10.0)+1=16 67.1
</ LR E= (199.6+219.6)*16/100=67.1 M
#4 B f5-rh i #4th L HH E 8= Int(((380-80)/2)/15.0)+1=11 46.1
<7 thdif e = (199.6+219.6)*11/100=46.1 M
#4 Bi-BREE HARR B [E 8 E=(199.6+219.6)*Int(80/10)/100= 33.53 M 335
EEBRHL

TR T (R1)18-#10 ($12)X-#X

REHEEE(11)18-#10 (HA2)X-HX

1BIE3REE(1)58:10-10"18%

EhRETE:

F 12 hR:(80+90)*2*380/10000=12.92 M2

AR E AR RO RR:
%5:152:-(G6) 50*80/10000=0.40
%:2i%:-(B5) 50*80/10000=0.40
%:3i%:-(G7) 50*80/10000=0.40
%:4;%:-(B6) 50*80/10000=0.40
LLE/NET:1.60 M2

FERRE AR R A0 B
%:178:40.00*16/10000=0.0640
££:2%:30.00*16/10000=0.0480
%:378:40.00*16/10000=0.0640
%:45%:30.00*16/10000=0.0480
LLE/NET:0.2240 M2

FEAE E AR R A0 B

JE 1 (FRE)-:B6=15%(380-80)/10000=0.45
T2 (R K )-:B5=15%(380-80)/10000=0.45
E R 3(MRE )-:S2=12%(35-16)/10000=0.02

Ll E/NET:0.92 M2

AR RS 12.92-[#F R 3 HE]1.60-[#E R XX $%]0.22-[#E 153 $£]0.92=10.17 M2

RCEHE:
80*90*380/1000000= 2.736 M3

Mt HAER:

#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#10=68.400 M (68.400 M*6.390/1000= 0.4371 T)

SMAR/INET = 06997 T
BAR/NET(E) = 10.17 M2
R /NGt = 2.736 M3

PNA21-01-t&[&: 1F , #£488%: C2, fIEFHR: 2 [X1:+118,Y5:-161] R~F: 80 cm * 90 cm , #&: 380.0 cm
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#10 ERF(FE14-—HRE): (380+0)*18/100 68.40
| T H+EE(Lg)(HEHE
[F&#=0])
#4 SMER-L T i SR E(H )= (80+90)*2-8*4+2*13.89=335.8 53.72
g T = Int(((380-80)/2)/10.0)+1=16
T K= 335.8%16/100=53.72 M
#4 SME - R SR E(H )= (80+90)*2-8*4+2*13.89=335.8 36.94
g rh J 4 28= Int(((380-80)/2)/15.0)+1=11
R iERE R = 335.811/100=36.94 M
#4 SN RR-R S\ B (H2)= (80+90)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
BHEFER-KTERE | XOKFE)AEE(HRE)= (80-2*[{RERB]4+2*[135EF E$7]13.9)
</ EM[ *2=199.6 ]
Y(EE)ERE(FBE)= (90-2* [{R#[B14+2*[135EE £ £7]13.9)
*2=219.6
#4 Bip-LTim #4 £ T ixE 2= Int(((380-80)/2)/10.0)+1=16 67.1
</ E T R= (199.6+219.6)*16/100=67.1 M
#4 BE-hRim #4rh IR B EL= Int(((380-80)/2)/15.0)+1=11 46.1
</ R iR = (199.6+219.6)*11/100=46.1 M
#4 BH-BEE HARZ [ERE R =(199.6+219.6)*Int(80/10)/100= 33.53 M 33.5

RSt R:

FRBAEE:E1)18-#10 (F82)X-#X
ABEEF:(FE1)18-#10 ($82)X-#X
{EHERSE(1)40:10-10"18%

BhRETE:

F 1% hr:(80+90)*2*380/10000=12.92 M2

HEEEAR MNP

%:158:-(G1) 50*80/10000=0.40
25:25%:-(B4) 50*80/10000=0.40
#:358:-(G2) 50*80/10000=0.40
LLE/VET:1.20 M2

MR AR MR O PR

%:158:40.00*16/10000=0.0640
%5:25%:30.00*16/10000=0.0480
%5:35%:40.00*16/10000=0.0640
%5:45%:80.00*16/10000=0.1280
LL_E/VET:0.3040 M2

RS E AR RO PR

E R 1(BE)--G1=15%(380-80)/10000=0.45

IR 2(hRE

:CS=15%(380-16)/10000=0.55

)-
)-
E R 3(ME)-:CS=15*(380-16)/10000=0.55
E RIS 4(BE)-:B4=15%(380-80)/10000=0.45

LLE/IVET:1.99 M2

R AEET:12.92-[4F R 3 H£]1.20-[4E hiR 3 5£10.30-[4E 5 3 $]1.99=9.42 M2

RC:tH&E:

80*90*380/1000000= 2.736 M3

M EER:

#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#10=68.400 M (68.400 M*6.390/1000= 0.4371 T)

SRR /INET =0.6997 T
HBAR/NVET(E) = 9.42 M2
SR NET = 2.736 M3

PNA21-01-#£f&: 1F , #£4K5%: C12, f1E 3% 28 [X3:-39,Y6:+176] RF: 128 cm * 80 cm , #75: 380.0 cm

#8

EH(E1HE-—RE):
EF+HE (L) (1R
[F&#%=0])

(380+0)*24/100

91.20
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SMER- T SRR (F )= (128+80)*2-8*4+2*13.89=411.8 65.88
+ T EEIZ= Int(((380-80)/2)/10.0)+1=16
TR E= 411.8"16/100=65.88 M

#4

S48 55 o PR (F )= (128+80)2-8*4+2+13.89=411.8 45.30
o R B B= Int(((380-80)/2)/15.0)+1=11
R MR = 411.8*11/100=45.30 M

#4

(Int(80/10))*411.8/100=32.94 M

BHEFER-KTERE | XOKFE)AEEFGRE)= (128-2*[{REE]4+2*[135F &)
EM 13.9)*2=295.6 )
Y(EE)AREH )= (80-2[REB14+2*[135EE$7]13.9)
*4=399.1

BT #4 T i%E %= Int(((380-80)/2)/10.0)+1=16 111.1
L TFip# K= (295.6+399.1)*16/100=111.1 M

#4

8-l #4rh R B EE= Int(((380-80)/2)/15.0)+1=11 76.4
R 48 R = (295.6+399.1)*11/100=76.4 M

#4

BE-BEE HARH E M5 =(295.6+399.1)*Int(80/10)/100= 55.57 M 55.6

#4 g S ERR-BRE SERE(H )= (128+80)*2-8*4+2*13.89=411.8 32.94
#4

tEERaTE:

A E(HR1)22-#8 (H2)X-#X
ABR TR (1B1)24-#8 (F2)X-#X
1B (1)40:8-8"22%
{BEBRE(2)#E:8-T2%

EARETE:
FHHR:(128+80)*2*380/10000=15.81 M2
SRR

%:1i2:-(G2) 50*80/10000=0.40
%:2i%:-(G9) 50*80/10000=0.40
%:3i2:-(B5) 50*80/10000=0.40
KL E/NE:1.20 M2
HERRE AR MR R
%:1i£:30.00*16/10000=0.0480
%:3i2:30.00*16/10000=0.0480
%:4i2:77.50*16/10000=0.1240
L E/NET:0.2200 M2
FENEE AR kR A0 R
JE 1 (K )-:G2=15%(120-80)/10000=0.06
KL E/NVET:0.06 M2

*EH%%E#%.M-[H#%W&M 20-[#E R 32 $£]0.22-[#E {5 32 $£]0.06=14.33 M2

RCEH&E:
128*80*380/1000000= 3.891 M3

MMt EER:
#4=387.263 M (387.263 M*0.994/1000= 0.3849 T)
#8=91.200 M (91.200 M*3.980/1000= 0.3630 T)
SMAR/INET = 0.7479 T
BRR/NET () = 14.33 M2
SR /NET = 3.891 M3

PNA21-01-#£f&: 1F , #EL5%: C7, fIE 5k 15 [X2:-2,Y5:-161] R~F: 80 cm * 90 cm , #&: 380.0 cm

#10 TH(EE-—RE): (380+0)*18/100 68.40
| FH+E (L) (HEHE
[B#=0])
#4 sMERS- £ T i SMEE B (F7)= (80+90)*2-8*4+2+13.89=335.8 53.72
D L T B = Int((380-80)/2)/10.0)+1=16
+ T4 5= 335.816/100=53.72 M

b RAEE 22= Int(((380-80)/2)/15.0)+1=11

#4 D SME - R SMERE ()= (80+90)*2-8*4+2*13.89=335.8 36.94
PR fE#E K= 335.8%11/100=36.94 M
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#4 SN - S\ R ()= (80+90)*2-8*4+2*13.89=335.8 26.86
@ (Int(80/10))*335.8/100=26.86 M
BmEBERR-KER,E XOKFE) R E (G H4E)= (80-2*[{R#B]4+2*[135E & $7]13.9)
<2 B *2=199.6 ]
Y(BE)EERE(H )= (0-2* IR HEB4+2*[1355 E£4]13.9)
*2=219.6
#4 BT #4 1 T 85 B 2= Int(((380-80)/2)/10.0)+1=16 67.1
<2 T8 E= (199.6+219.6)*16/100=67.1 M
#4 B-rh R #4th R IHE = Int(((380-80)/2)/15.0)+1=11 46.1
<7 R 48 K = (199.6+219.6)*11/100=46.1 M
#4 BEH-BEE HAR T E 45 =(199.6+219.6)*Int(80/10)/100= 33.53 M 33.5
FEEHE

EBAEE(H1)18-#10 (#B2)X-#X
ABAEE(M1)18-#10 ($A2)X-#X
B (1)4:10-10*18%

BhREHH:

F 1 hfr:(80+90)*2*380/10000=12.92 M2

HEEERR MO

%:158:-(G5) 50*80/10000=0.40
%:25%:-(B3) 50*80/10000=0.40
%:35%:-(G6) 50*80/10000=0.40
%:45%:-(B4) 50*80/10000=0.40
LLE/VET:1.60 M2

HEMRE R AR M 0 PR

%:15%:40.00*16/10000=0.0640
%:25%:30.00*16/10000=0.0480
%:35%:40.00*16/10000=0.0640
%:45%:30.00*16/10000=0.0480
LLE/VET:0.2240 M2

FEHEE AR RO RR:

1 (KK )-:B4=15%(380-80)/10000=0.45
B 2(FRE )-:B3=15%(380-80)/10000=0.45
Ll _E/VEF:0.90 M2
AR AEET:12.92-[FE R X $5]1.60-[#F iR 32 $10.22- [ 15 38 $%]0.90=10.20 M2

RCEtH&E:

80*90*380/1000000= 2.736 M3

MArEt HAER:

#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#10=68.400 M (68.400 M*6.390/1000= 0.4371 T)

$MER/INET =0.6997 T

BAR/INET(E) = 10.20 M2

B /G =2.736 M3

PNA21-01-#8: 1F , # K5 C33, M EFk:

41 [X4:-162,Y15:+149] R~F:90 cm * 80 cm , 45 380.0 cm

#10 FER(E1HE-—REB): (380+0)*18/100 68.40
| E+ERE(Lg) (1B
[#&#£=0])
#4 SMERR-L T i SMERE(H )= (90+80)*2-8*4+2*13.89=335.8 53.72
g + THEREZ= Int(((380-80)/2)/10.0)+1=16
I FHE# K= 335.816/100=53.72 M
#4 SV - R HMERE(H )= (90+80)*2-8*4+2*13.89=335.8 36.94
g b RG] 28= Int(((380-80)/2)/15.0)+1=11
th R fERE K= 335.8*11/100=36.94 M
#4 SME - SMERE(H )= (90+80)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
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EmEBERR-KER,E XOKFE)ERE(HHAE)= (90-2*[{R#B]4+2*[135E & $7]13.9)
< B *2=219.6 )
Y(BE)EERE(HHAE)= (80-2* IR HEB4+2*[1355 E£4]13.9)
*2=199.6
#4 BE- Tk #4 & T 85 B 2= Int(((380-80)/2)/10.0)+1=16 67.1
<2 L Ti#E= (219.6+199.6)16/100=67.1 M
#4 B-rh i #Ath R 2= Int(((380-80)/2)/15.0)+1=11 46.1
<7 oh SR i85 = (219.6+199.6)*11/100=46.1 M
#4 BE-BEE HAREEE=(219.6+199.6)*Int(80/10)/100= 33.53 M 33.5
fBEEtE:

EREEEH:HR1)18-#10 (FE2)X-#X
REHEH:(HR1)18-#10 ($H2)X-#X
1BHEIRE(1)40:10-10%18%%

BhRET &
F48HR:(90+80)*2*380/10000=12.92 M2
PR E AR MO RR:

%5:138:-(G32) 50*80/10000=0.40
25:2i8:-(B22) 50*80/10000=0.40
25:338:-(G33) 60*60/10000=0.36
LLE/NER1.16 M2
FERRE BEAR MR A0 B
25:2i8:40.00*16/10000=0.0640
25:338:30.00*16/10000=0.0480
25:43%:40.00*16/10000=0.0640
LL_E/NET:0.1760 M2
RS E AR M0 RR:
B 1(FRE)-:G33=15%(380-60)/10000=0.48
LL_E/NET:0.48 M2

ﬁm%rﬁéﬁn 2.92-[#F R $#]1.16-[FE iR 33 $£]0.18-[#F 5 32 $£]0.48=11.10 M2

RCEE:
90*80*380/1000000= 2.736 M3

Mt EHER:
#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#10=68.400 M (68.400 M*6.390/1000= 0.4371 T)
$MER/INET =0.6997 T
BAR/NEHE) = 11.10 M2
iR /INE =2.736 M3

PNA21-01-#£&: 1F , #£8%: C15, LiE F5E: 50 [X5:-57,Y8:+173] R~F: 90 cm * 80 cm , #&: 380.0 cm

#10 EH(E14-—ARE): (380+0)*16/100 60.80
| A+ (Lg) (B
[#&#£=0])
#4 S\ A5 - £ T i SRR B ()= (90+80)*2-8*4+2*13.89=335.8 53.72
g T HEBIE= Int(((380-80)/2)/10.0)+1=16
I T K= 335.816/100=53.72 M
#4 HME - R SMERE(HR)= (90+80)*2-8*4+2*13.89=335.8 36.94
g o SRR E8= Int(((380-80)/2)/15.0)+1=11
th R fERE K= 335.8*11/100=36.94 M
#4 SV G AR-BR R 5\ {5 R BE(F72)= (90+80)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
BHEBERER-KTER,E | XOKE)AEEGHRIE)= (90-2*[{REE]14+2*[135E & $7]13.9)
<7 (1G] *2=219.6 7
Y(EE)EREE(HIB)= (80-2*[{R#[B14+2*[135E & £4]13.9)
*2=199.6
#4 Bi5- T g #4 T iRE 8= Int(((380-80)/2)/10.0)+1=16 67.1
</ E TR R= (219.6+199.6)*16/100=67.1 M
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#4 R R #4h S EEH= Int(((380-80)/2)/15.0)+1=11 46.1
<7 oL 48 = (219.6+199.6)*11/100=46.1 M
#4 BE-BREE #AR B EL E=(219.6+199.6)*Int(80/10)/100= 33.53 M 335
fBEETE:
LEFEH:(#R1)16-# (‘fﬁZ)X #X
ABAEH:(101)16-#10 ($2)X-#X
BIEIREE(1)4H:10-8* Gﬁ
BhRET &

F 1% hr:(90+80)*2*380/10000=12.92 M2

HEEERAR RO

%:158:-(B10) 50*80/10000=0.40
%:25%:-(G19) 50*80/10000=0.40
%:35%:-(CB10) 45*60/10000=0.27
%:45%:-(G20) 50*80/10000=0.40
LLE/NET:1.47 M2

HEMRE AR R 0 PR:

%:15%:30.00*16/10000=0.0480
%5:25%:40.00*16/10000=0.0640
%:35%:30.00*16/10000=0.0480
%:45%:40.00*16/10000=0.0640
LLE/VET:0.2240 M2

RS E R AR M O PR

Ll _E/NEF:0.00 M2
WRRABET:12.92-[FE R HR]1.47-[#F HR 32 $10.22- [ 15 38 $%]0.00=11.23 M2

RCEH&E:

90*80*380/1000000= 2.736 M3

-------------- FHE RN
]

#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#10=60.800 M (60.800 M*6.390/1000= 0.3885 T)

$MER/NET =0.6511 T

BAR/NEH(E) = 11.23 M2

B /NG =2.736 M3

PNA21-01-#8f8: 1F , #HL5%: C14, MEF5%:

49 [X5:+26,Y7:+200] R~: 90 cm * 80 cm , ¥ &: 380.0 cm

#8 EH(E14E-—ARE): (380+0)*20/100 76.00
| I+ (Lg) (B
[#&$£=0])
#4 SVEfR- £ T i SRR B ()= (90+80)*2-8*4+2*13.89=335.8 53.72
g L+ THEEIE= Int(((380-80)/2)/10.0)+1=16
I T K= 335.816/100=53.72 M
#4 SV - R h\ER B (B )= (90+80)*2-8*4+2*13.89=335.8 36.94
g o SRR E8= Int(((380-80)/2)/15.0)+1=11
th R fEHE K= 335.8*11/100=36.94 M
#4 SME - SRR EE(H )= (90+80)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
BHEBERER-KTER,E | XOKE)AEEGRIE)= (90-2*[{REE]14+2*[135E & £7]13.9)
<7 (1G] *2=219.6 )
Y(EE)EREE(HT)= (80-2*[{R#[B14+2*[135EE & £4]13.9)
*2=199.6
#4 BA5- £ T % #4 T iRE 8= Int(((380-80)/2)/10.0)+1=16 67.1
</ ETFin#ER= (219.6+199.6)*16/100=67.1 M
#4 BEh-pRih #4rh IR EI8E= Int(((380-80)/2)/15.0)+1=11 46.1
<7 hRiEHER = (219.6+199.6)*11/100=46.1 M
#4 Em-RERE HABR R [EHE £ =(219.6+199.6)*Int(80/10)/100= 33.53 M 335

wERIE

EREHE(41)20-#8 (HA2)X-#X
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AREBHER:(3H1)20-#8 (FH2)X-#X
B85 (1)50:8-8*20%
RIRETE:

F 4 hR:(90+80)*2*380/10000=12.92 M2

AR E AR IO
%:15%:-(B9) 50*80/10000=0.40
%:2i%:-(G15) 50*80/10000=0.40
%:3i%:-(B10) 50*80/10000=0.40
%:4;%:-(G16) 50*80/10000=0.40
LLE/NET:1.60 M2

FERRE AR R IO AR
:172:30.00*16/10000=0.0480
:27%:40.00*16/10000=0.0640
%:372:30.00*16/10000=0.0480
%:4%:40.00*16/10000=0.0640
LLE/INET:0.2240 M2

RS E AR R IO RR:
B 1(E)-:B10=15*(380-80)/10000=0.45
B 2(E)-:B9=15%(380-80)/10000=0.45

Ll /NEF0.90 M2
&Hl%rﬁgﬁnz.gz-[ffﬂ%wgn 60-[#E iR 3 $£]0.22-[4E 15 35 $£]0.90=10.20 M2
RCEtHE:

90*80*380/1000000= 2.736 M3
-------------- ELR- K o 1Y S—
Mt ERR:

#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#8=76.000 M (76.000 M*3.980/1000= 0.3025 T)
$MAs/INET = 05651 T
BAR/NVET(E) = 10.20 M2
R /NET = 2.736 M3

PNA21-01-#£[&: 1F , #£48C8%: C18, RiB F5E: 56 [X7:+125,Y8:+29] R~:90 cm * 80 cm , 45 380.0 cm

#10 FHh(E1HR-—REB): (380+0)*16/100 60.80
| FEH+EE(Lg)(1EE
[#E#=0))
#4 SMER- £ T i SR EE(H )= (90+80)*2-8*4+2*13.89=335.8 53.72
g T = Int(((380-80)/2)/10.0)+1=16
+ TiEfER= 335.8*16/100=53.72 M
#4 SN ERR-h R SR EE(H )= (90+80)*2-8*4+2*13.89=335.8 36.94
g rh J 5 B 2= Int(((380-80)/2)/15.0)+1=11
rhRfiE#E K= 335.8*11/100=36.94 M
#4 HNER-RE SR EE(H5)= (90+80)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
BHEHR-KERE | XOKP)REEFA )= (90-2*[{RERE]4+2*[135F E4$7]13.9)
<7 B[ *2=219.6 ]
Y(EE)ERE(H)= (80-2*[{R#[B14+2*[135E E£4]13.9)
*2=199.6
#4 B- LT #4_F T B 8= Int(((380-80)/2)/10.0)+1=16 67.1
</ ETin#ER= (219.6+199.6)*16/100=67.1 M
#4 M- R R #4rh RIHEBL= Int(((380-80)/2)/15.0)+1=11 46.1
<7 thRiFHER = (219.6+199.6)*11/100=46.1 M
#4 BH-BERE HARF [EHE R =(219.6+199.6)*Int(80/10)/100= 33.53 M 335
BERTE

EEREHER1)16-#10 ($B2)X-#X
AR EH:(H1)16-410 (FB2)X-#X
TERERREE(1)40:10-10*16%

HRRETE:
FHHR:(90+80)*2*380/10000=12.92 M2
HARE SRR

%:1i2:-(B12) 50*80/10000=0.40
%:2i2:-(G18) 50*80/10000=0.40
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%:35%:-(CB12) 45"60/10000=0.27
%:4i%:-(G19) 50*80/10000=0.40
LLE/NET:1.47 M2
FERRE IR IR IR
%:13i%:30.00%16/10000=0.0480
%:2i%:40.00%16/10000=0.0640
%:3i%:30.00%16/10000=0.0480
%:43%:40.00%16/10000=0.0640
LL_E/NEH:0.2240 M2
NS B RE AR IO
LLE/VET:0.00 M2

RRARAEET:12.92-[AF BR T H]1.47-[AT kiR 32 $£]0.22- [#E 18 32 $£]0.00=11.23 M2

RC:tH&E:

90*80*380/1000000= 2.736 M3
-------------- R R 0] N —
Mt ERER

#4=264.2.17 M (264.217 M*0.994/1000= 0.2626 T)
#10=60.800 M (60.800 M*6.390/1000= 0.3885 T)

MEs/NE =06511T
BAR/MEH(E) = 11.23 M2
R /NET = 2.736 M3

PNA21-01-#£f&: 1F , #£L5%: C18, (I &

FFafk: 62 [X8:-192,Y8:-115] R~t: 90 cm * 80 cm , #&: 380.0 cm

#10 ERF(E14-—HRE): (380+0)*16/100 60.80
| FHr -+ (Lg)(HEHE
[#&#=0])
#4 S\ RS- £ T i SR EE ()= (90+80)*2-8*4+2*13.89=335.8 53.72
@ L+ THE = Int(((380-80)/2)/10.0)+1=16
T K= 335.8%16/100=53.72 M
#4 SMERR-h R S\ B (H2)= (90+80)*2-8*4+2*13.89=335.8 36.94
@ R EE 2= Int(((380-80)/2)/15.0)+1=11
R iERE R = 335.8*11/100=36.94 M
#4 SMER-RE SR E(H )= (90+80)*2-8*4+2*13.89=335.8 26.86
@ (Int(80/10))*335.8/100=26.86 M
BHEBERER-KFER,E | XOKE)EEEGRIE)= (90-2*[{REB]14+2*[135E &4$7]13.9)
< (=G *2=219.6 _
Y(EE)ERE(HRAE)= (80-2* [{R#[B14+2*[135FE & £4]13.9)
*2=199.6
#4 V- ETim #4_F TR E 2= Int(((380-80)/2)/10.0)+1=16 67.1
</ Lt TFigiE K= (219.6+199.6)*16/100=67.1 M
#4 BE-PRim #4rh R B Eh= Int(((380-80)/2)/15.0)+1=11 46.1
<7 PR R = (219.6+199.6)*11/100=46.1 M
#4 EH-REE HARZ [ERE R =(219.6+199.6)*Int(80/10)/100= 33.53 M 335
BESTE:

EBREEH:HE1)16-#10 (#H2)X-#X

ABEER:(FE1)16-#10 ($82)X-#X

{BIEERE(1)#:10-10716%

EhRET S

F 4 hR:(90+80)*2*380/10000=12.92 M2

FERRE R IR IORR:
%:15%:-(B12) 50*80/10000=0.40
%5:2i%:-(G17) 50*65/10000=0.33
%5:3i%:-(CB12) 45*60/10000=0.27
%:4%:-(G18) 50*80/10000=0.40
KL E/NET1.40 M2

FERRE AR hRIORR:
%5:1:2:30.00%16/10000=0.0480
%5:2i2:40.00%16/10000=0.0640
%5:3:2:30.00%16/10000=0.0480
%5:432:40.00%*16/10000=0.0640
LA E/NET:0.2240 M2
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SRR
E 1 (MRE)-:S2=10%(30-16)/10000=0.01
E RS 2(FR K )-:B12=25%(380-80)/10000=0.75
E RS 3(FRE)-:G17=25%(380-65)/10000=0.79
LA E/NET:1.55 M2
$§Hls‘t+{f§:§+:1 2.92-[#E R 11 .40-[FE IR 3T $]0.22-[#1 5 32 $]1.55=9.75 M2
RCEH&E:
90*80*380/1000000= 2.736 M3

At EHR:
#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#10=60.800 M (60.800 M*6.390/1000= 0.3885 T)
MAs/NE =06511T
BAR/MVEH(E) = 9.75 M2
RN = 2.736 M3

PNA21-01-#&/8: 1F , #4t5%: C21a, & F5%: 66 [X10:-19,Y7:+239] R~: 90 cm * 60 cm , 45 380.0 cm

#10 x (5 14R-—HEB): (380+0)*16/100 60.80
| g (Lo (B
[#&#=0])
#4 SMER-L T ik SR E(H )= (90+60)*2-8*4+2*13.89=295.8 47.32
@ T E= Int(((380-80)/2)/10.0)+1=16
F T R= 295.816/100=47.32 M
#4 HME - R SR E ()= (90+60)*2-8*4+2*13.89=295.8 32.54
@ rh S 8k= Int(((380-80)/2)/15.0)+1=11
th R fE e K= 295.8*11/100=32.54 M
#4 SMER-RE SR E ()= (90+60)*2-8*4+2*13.89=295.8 23.66
@ (Int(80/10))*295.8/100=23.66 M
BHEHGR-KFERE | XOKF)AREFRE)= (90-2 [(REB4+2*[135E & £4]13.9)
<7 (=R *2=219.6 )
Y(EE)AREHRHE)= (60-2[RERB4+2*[135EE$5]13.9)
*4=319.1
#4 B5- E T #4_F TR E B= Int(((380-80)/2)/10.0)+1=16 86.2
</ F i RE= (219.6+319.1)*16/100=86.2 M
#4 BE-PRim #4rh R IFEIEL= Int(((380-80)/2)/15.0)+1=11 59.3
<7 th fifkiE K= (219.6+319.1)*11/100=59.3 M
#4 BH-REE HARZERER=(219.6+319.1)*Int(80/10)/100= 43.09 M 43.1
EESTE

EBHEEGER1)16-#10 (#B2)X-#X
ABEEF:(HE1)16-#10 ($H2)X-#X
BERE(1)#E:10-10*16%

ARt E:

F#EkR:(90+60)*2*380/10000=11.40 M2

AR E MR
%:1i8:-(B14) 50*80/10000=0.40
%:2i8:-(CB14) 45*60/10000=0.27
%:3i8:-(G17) 50*65/10000=0.33
Ll EsNEH1.00 M2

RS B AR R
%:1:%:10.00*16/10000=0.0160
5:2i8:90.00*16/10000=0.1440
%:3:2:10.00*16/10000=0.0160
5:4:8:40.00*16/10000=0.0640
Ll E/NEH0.2400 M2

AR E RO
TR 1 (2K )-:G17=25%(380-65)/10000=0.79
RS 2(12 K )-:B14=25%(380-80)/10000=0.75
LLE/INEH:1.54 M2

*EH%%E‘I‘A 1.40-[#E 423 E]1.00-[#E R X $%]0.24-[#E #E 3 $£]1.54=8.63 M2

RCEHE:
90*60*380/1000000= 2.052 M3

Page 18/53



-------------- EI T 1 Y]] S—
Mt EHER:
#4=292.063 M (292.063 M*0.994/1000= 0.2903 T)
#10=60.800 M (60.800 M*6.390/1000= 0.3885 T)
MR /NET =0.6788 T
HBAR/NVET(E) = 8.63 M2
SR /NET = 2.052 M3

PNA21-01-#£f&: 1F , #£4K5%: C35, 1B F3k: 43 [X4:-162,Y18:-211] R~t: 90 cm * 80 cm, #£5: 380.0 cm

#10 TH(E1HE-—ERE): (380+0)*18/100 68.40
| A (Lo (B
[#B#£=0])
#4 S\ERG- £ T SNEEE(HT)= (90+80)*2-8*4+2%13.89=335.8 53.72
g T EE = Int(((380-80)/2)/10.0)+1=16
i E= 335.8416/100=53.72 M
#4 SRR3R SNEEE(HT)= (90+80)*2-8*4+2%13.89=335.8 36.94
g rh S B 2= Int(((380-80)/2)/15.0)+1=11
e K= 335.8*11/100=36.94 M
#4 H\ER-BRE S\EEE(HT)= (90+80)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
EHERER-KFR,E | XOKFE)MEEGRIE)= (90-2*[{RERB]4+2*[135EF &$7]13.9)
< [ElR *2=219.6 )
Y(EE)RRE ()= (80-2*[{REE]14+2*[135E & §7]13.9)
*2=199.6
#4 BA5- T #4 - T iR S= Int(((380-80)/2)/10.0)+1=16 67.1
</ T E= (219.6+199.6)16/100=67.1 M
#4 B -rh i #40h SR Bh= Int(((380-80)/2)/15.0)+1=11 46.1
<7 e = (219.6+199.6)*11/100=46.1 M
#4 BE-BREE #ABRE EHEE=(219.6+199.6)*Int(80/10)/100= 33.53 M 335
e

AT HR1)18-#10 (#H2)X-#X
ABHTH:(FE1)18-#10 ($H2)X-#X
1BHEIRE(1)80:10-10%18%%
ERETE:
F48HR:(90+80)*2*380/10000=12.92 M2
BRI OB
%5:1i8:-(B23) 50*80/10000=0.40
25:2i8:-(G38) 50*80/10000=0.40
2£:338:-(G39) 60*60/10000=0.36
LLE/NER1.16 M2
FE MBI AR R OB
25:138:30.00*16/10000=0.0480
25:2i8:40.00*16/10000=0.0640
25:338:80.00*16/10000=0.1280
25:438:40.00*16/10000=0.0640
LL_E/VE:0.3040 M2
B AR R O B
B 1 (MK )-:CS=15*(380-16)/10000=0.55
B2 (MK )-:CS=15*(380-16)/10000=0.55
T 3(FRE )-:B23=15%(380-80)/10000=0.45
LLE/NET:1.54 M2
$§H@rﬁ§§+:12.92-{m§!§$§]1 16-[4ERR 33 $%]0.30-[#E 5 XX $£]1.54=9.91 M2
RCEH&E:
90*80*380/1000000= 2.736 M3

SRt AR
#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#10=68.400 M (68.400 M*6.390/1000= 0.4371 T)
MEx/NET = 06997 T
EhR/NEH(E) = 9.91 M2
BEEL /NGt = 2736 M3
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PNA21-01-18&: 1F , #K5%: C34, MEFk:

42 [X4:-162,Y16:+169] R~: 90 cm * 80 cm , #%&: 380.0 cm

#10 TH(EHE-—AEE): (380+0)*18/100 68.40
| g (Lo
[##=0])
#4 S\iERG- £ T SNEEE(HT)= (90+80)*2-8*4+2%13.89=335.8 53.72
g T E#BE = Int(((380-80)/2)/10.0)+1=16
i@ E= 335.8416/100=53.72 M
#4 SRR3R S\EEE(HT)= (90+80)*2-8*4+2%13.89=335.8 36.94
g rh S E 2= Int(((380-80)/2)/15.0)+1=11
R K= 335.8*11/100=36.94 M
#4 H\ER-BRE S\EEE(HT)= (90+80)*2-8*4+2%13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
EMEBERR-KFR,E | XOKFE)MEEGRIE)= (90-2*[{RERB]4+2*[135EF &$7]13.9)
<7 A *2=219.6 )
Y(BE)AEE(H )= (80-2*[{RHEE4+2*[135E &44]13.9)
*2=199.6
#4 8- T i #4 - T iR #= Int(((380-80)/2)/10.0)+1=16 67.1
</ i E= (219.6+199.6)16/100=67.1 M
#4 B f5-rh i #40h SR Bh= Int(((380-80)/2)/15.0)+1=11 46.1
<7 e = (219.6+199.6)*11/100=46.1 M
#4 Bi-BREE #ABRE EHE=(219.6+199.6)*Int(80/10)/100= 33.53 M 335
FEEHR

EBAEE(H1)18-#10 ($B2)X-#X
ABHEH:(41)18-#10 (4B2)X-#X

BRI (1)%8:10-10"1
EhRETE:

8%

F42HR:(90+80)*2*380/10000=12.92 M2

HRGE AR AR ORR:

%:158:-(B22) 50*80/10000=0.40
%:25%:-(G35) 50*80/10000=0.40
%:35%:-(B23) 50*80/10000=0.40
%:45%:-(G36) 60*60/10000=0.36
LLE/NVET:1.56 M2

FERRE AR AR O BR:

%:15%:30.00*16/10000=0.0480
%:25%:40.00*16/10000=0.0640
%:35%:30.00*16/10000=0.0480
%:45%:40.00*16/10000=0.0640
LL_E/NVET:0.2240 M2

FEHE AR RO RR:

B i1 (FRE )-:B23=15%(380-80)/10000=0.45
i 0 (FRE )-:B22=15%(380-80)/10000=0.45
L1 _E/NEH0.90 M2
FERR AR ET:12.92-[#E R 32 1]1.56-[#E iR 32 $£]0.22-[#E 15 32 $£]0.90=10.24 M2

RCEtH&E:

90*80*380/1000000= 2.736 M3

MAnEt HAER:

#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#10=68.400 M (68.400 M*6.390/1000= 0.4371 T)

SMAR/INET = 0.6997 T
BAR/NET(E) = 10.24 M2
R /NGt = 2.736 M3

PNA21-01-#£f&: 1F , #5885 C35, fiB F5E: 53 [X6:+8,Y18:-211] R~: 90 cm * 80 cm , & 380.0 cm

#10

EH(E1E-—RE):
EE (L) (1
[##E=0])

(380+0)*18/100

68.40

Page 20/53



#4

SMER- £ T i

SV R E (A R2)= (90+80)*2-8*4+2*13.89=335.8
L+ THEE24= Int(((380-80)/2)/10.0)+1=16
L+ TFiE#ER= 335.8%16/100=53.72 M

53.72

#4

SR E(H )= (90+80)*2-8*4+2*13.89=335.8
rh Je B 2k= Int(((380-80)/2)/15.0)+1=11
R iERE R = 335.8*11/100=36.94 M

36.94

SR E(H )= (90+80)*2-8*4+2*13.89=335.8
(Int(80/10))*335.8/100=26.86 M

26.86

XOKTF)RRE(H )= (90-2*[{RE B14+2*[135 ££44]13.9)
*2=219.6
Y(EE)AREHRE)= (80-2[REE4+2*[135EE$7]13.9)
*2=199.6

#4

#4 & T I E = Int(((380-80)/2)/10.0)+1=16
L T8 E= (219.6+199.6)16/100=67.1 M

67.1

#4

#4th R IFE = Int(((380-80)/2)/15.0)+1=11
rhR %48 K= (219.6+199.6)*11/100=46.1 M

46.1

#4

[
R
" U

HARF EME=(219.6+199.6)*Int(80/10)/100= 33.53 M

33.5

falsRa®E:

EBAEE(M1)18-#10 ($B2)X-#X
ABHEH:(41)18-#10 (4B2)X-#X
IR (1)%8:10-10"18%

BhREHE:

F 1 hfR:(90+80)*2*380/10000=12.92 M2

HEERR MO

%:158:-(B25) 50*80/10000=0.40
%:25%:-(G37) 50*80/10000=0.40
%:35%:-(G38) 50*80/10000=0.40
LLE/NVET:1.20 M2

FERRE AR AR O BR:

%:15%:30.00*16/10000=0.0480
%5:25%:40.00*16/10000=0.0640
%:35%:80.00*16/10000=0.1280
%:45%:40.00*16/10000=0.0640
LL_E/VET:0.3040 M2

FEHE AR RO PR

E S 1(ME)-:CS=15*(380-16)/10000=0.55

)_
EEE2(RE)-
EEiE3(RE)-

)_

:CS=15%*(380-16)/10000=0.55
:G38=15%(380-80)/10000=0.45

IS 4 (KK )-:B25=15%(380-80)/10000=0.45
LL_E/NET1.99 M2
AR AEET:12.92- [ R 3 #5]1.20-[#F hiR 32 $]0. 30-[#E 5 32 $%]1.99=9.42 M2

RCEH&E:

90*80*380/1000000= 2.736 M3

MAnEt HAER:

#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#10=68.400 M (68.400 M*6.390/1000= 0.4371 T)

AR /INET = 06997 T
ARG (E) = 9.42 M2
R /NET = 2.736 M3

PNA21-01-#£f8: 1F , #K58%: C32, LB FF5k: 59 [X8:+178,Y18:-211] R~F: 90 cm * 80 cm , #£&: 380.0 cm

U

#10 ERH(BEE-—RE): (380+0)*18/100 68.40
| 3 (Lo (4
& #2-0)
NG LT SR (5 T)= (90+80)*2-84+2+13.89=335.8 53.72

+ THEREZ= Int(((380-80)/2)/10.0)+1=16
+ FHEf K= 335.816/100=53.72 M
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#4 SMER-H R SR EE (5 72)= (90+80)*2-8*4+2*13.89=335.8 36.94
@ rh 5B 2%= Int(((380-80)/2)/15.0)+1=11
th R fE4E K= 335.8%11/100=36.94 M
#4 VAS il e S\ E(F#2)= (90+80)*2-8*4+2%13.89=335.8 26.86
@ (Int(80/10))*335.8/100=26.86 M
BHEHGR-KFERE | XOKF)AREFRE)= (90-2 [(RERB4+2*[135EF & £4]13.9)
<7 EM *2=219.6 ]
Y(EE)ARE )= (80-2 R EB]4+2*[135F & $7]13.9)
*2=199.6
#4 B - LT #4_E T i $= Int(((380-80)/2)/10.0)+1=16 67.1
</ Tk K= (219.6+199.6)*16/100=67.1 M
#4 BE-PRin #4rh R B EE= Int(((380-80)/2)/15.0)+1=11 46.1
<7 th JifkiE R = (219.6+199.6)*11/100=46.1 M
#4 BH-BERE #ARZ EHE R =(219.6+199.6)*Int(80/10)/100= 33.53 M 335
fEESTE:

EBA TS (481)18-#8 ($B2)X-#X
ABHEH:(41)18-#10 (4B2)X-#X
BIE285(1)%0:10-8*18%

BhREHE:

F 1 hfR:(90+80)*2*380/10000=12.92 M2

HEERR MO

%:158:-(B27) 50*80/10000=0.40
%:25%:-(G37) 50*80/10000=0.40
LL_E/VET:0.80 M2

HEMRE AR M 0 PR

%:15%:30.00*16/10000=0.0480
%:35%:80.00*16/10000=0.1280
%:45%:40.00*16/10000=0.0640
LL_E/VET:0.2400 M2

FEHEE AR RO PR

E S 1(MUE)-:CS=15*(380-16)/10000=0.55

)_
EEE2(RE)-
EREiE3(RE)-

)_

:CS=15%*(380-16)/10000=0.55
:B27=15%(380-80)/10000=0.45

B 4(FRE)-:G37=15%(380-80)/10000=0.45
LL_E/NET1.99 M2
AR AEET:12.92-[FE R 3 $£]0.80-[#F i 32 110 24-[#1 5 32 $%]1.99=9.89 M2

RCEtH&E:

90*80*380/1000000= 2.736 M3

MArEt HAER:

#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#10=68.400 M (68.400 M*6.390/1000= 0.4371 T)

$MER/INET =0.6997 T
HBAR/NVET(E) = 9.89 M2
JREE /NGt = 2.736 M3

PNA21-01-#8f8: 1F , #{L5%: C35, (B F5%:

51 [X6:+8,Y15:+149] R~:90 cm * 80 cm , # & 380.0 cm

#10 FER(E1HE-—REB): (380+0)*18/100 68.40
| I+ (Lg) (B
[#&#£=0])
#4 SMERR-L T i HMERE(H )= (90+80)*2-8*4+2*13.89=335.8 53.72
g + THERE2= Int(((380-80)/2)/10.0)+1=16
I FHE# K= 335.816/100=53.72 M
#4 SV - R SMERE(H )= (90+80)*2-8*4+2*13.89=335.8 36.94
g th RG] 28= Int(((380-80)/2)/15.0)+1=11
th R fERE K= 335.8*11/100=36.94 M
#4 SMER-BR SMERE(H )= (90+80)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
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EmEBERR-KER,E XOKFE)ERE(HHAE)= (90-2*[{R#B]4+2*[135E & $7]13.9)
< B *2=219.6 )
Y(BE)EERE(HHAE)= (80-2* IR HEB4+2*[1355 E£4]13.9)
*2=199.6
#4 BE- Tk #4 & T 85 B 2= Int(((380-80)/2)/10.0)+1=16 67.1
<2 L Ti#E= (219.6+199.6)16/100=67.1 M
#4 B-rh i #Ath R 2= Int(((380-80)/2)/15.0)+1=11 46.1
<7 oh SR i85 = (219.6+199.6)*11/100=46.1 M
#4 BE-BEE HAREEE=(219.6+199.6)*Int(80/10)/100= 33.53 M 33.5
fBEEtE:

EREEEH:HR1)18-#10 (FE2)X-#X
AREHFEF:(FE1)18-#10 (FH2)X-#X
BRI E(1)#:10-10%18%
IRt E:
F 48 HR:(90+80)*2*380/10000=12.92 M2
HARE SRR
%5:138:-(G31) 50*80/10000=0.40
25:2i8:-(B24) 50*80/10000=0.40
25:338:-(G32) 50*80/10000=0.40
LLE/NET:1.20 M2
FERRE 1S RO RR:
%£:152:80.00*16/10000=0.1280
2£:252:40.00*16/10000=0.0640
%£:352:30.00*16/10000=0.0480
%£:452:40.00*16/10000=0.0640
Ll /hEF0.3040 M2
FEEE S RO AR
Ll E/NEF0.00 M2
ﬁm%rﬁé?m 2.92-[FE 23T $£]1.20-[#E MR 32 $]0.30-[#1 & 32 $£]0.00=11.42 M2
RCETE:
90*80*380/1000000= 2.736 M3

Mt EHER:
#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#10=68.400 M (68.400 M*6.390/1000= 0.4371 T)
$MER/INET =0.6997 T
BAR/NVET(E) = 11.42 M2
iR /INE =2.736 M3

PNA21-01-#£[&: 1F , #£08%: C34, fiB F55: 52 [X6:+8,Y16:+169] R~: 90 cm * 80 cm , 45 380.0 cm

#10 EH(E14-—ARE): (380+0)*18/100 68.40
| A+ (Lg) (B
[#&#£=0])
#4 S\ A5 - £ T i SRR B ()= (90+80)*2-8*4+2*13.89=335.8 53.72
g T HEBIE= Int(((380-80)/2)/10.0)+1=16
I T K= 335.816/100=53.72 M
#4 HME - R SMERE(HR)= (90+80)*2-8*4+2*13.89=335.8 36.94
g o SRR E8= Int(((380-80)/2)/15.0)+1=11
th R fERE K= 335.8*11/100=36.94 M
#4 SV G AR-BR R 5\ {5 R BE(F72)= (90+80)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
BHEBERER-KTER,E | XOKE)AEEGHRIE)= (90-2*[{REE]14+2*[135E & $7]13.9)
<7 (1G] *2=219.6 7
Y(EE)EREE(HIB)= (80-2*[{R#[B14+2*[135E & £4]13.9)
*2=199.6
#4 Bi5- T g #4 T iRE 8= Int(((380-80)/2)/10.0)+1=16 67.1
</ E TR R= (219.6+199.6)*16/100=67.1 M
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#4 BRH-h Rk #4oh RinEE= Int(((380-80)/2)/15.0)+1=11 46.1
< / PRin#E K= (219.6+199.6)*11/100=46.1 M
#4 BH-REE HARRZ R R=(219.6+199.6)*Int(80/10)/100= 33.53 M 33.5
faEsRa®E:

EREHEEA:(M1)18-#10 (FH2)X-#X

ABHERH:(H1)18-#10 (#H2)X-#X

RIEARE(1)4:10-10718%
Rhrat H:

F 1% hr:(90+80)*2*380/10000=12.92 M2

HEEERAR MO
%:158:-(B24) 50*80/10000=0.40
%:25%:-(G34) 50*80/10000=0.40
%:35%:-(B25) 50*80/10000=0.40
%:45%:-(G35) 50*80/10000=0.40
LLE/VET:1.60 M2

HEMRE AR R 0 PR:
%:15%:30.00*16/10000=0.0480
%5:25%:40.00*16/10000=0.0640
%:35%:30.00*16/10000=0.0480
%:45%:40.00*16/10000=0.0640
LLE/VET:0.2240 M2

RS E R AR M O PR
LLE/VET:0.00 M2

WRRABET:12.92-[FE A $5]1.60-[#F hR 32 $10.22- [ #5 38 $%]0.00=11.10 M2

RCEH&E:
90*80*380/1000000= 2.736 M3

Mt HAER:

#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#10=68.400 M (68.400 M*6.390/1000= 0.4371 T)

$MER/INET =0.6997 T
BAR/NEH(E) = 11.10 M2
iR /NE =2.736 M3

PNA21-01-#8: 1F , #x K58 C32, M EFk:

57 [X8:+178,Y15:+149] R~F:90 cm * 80 cm , 4 5: 380.0 cm

#10 FHh(E1HR-—REB): (380+0)*18/100 68.40
| T+ (L) (%
[#E#=0))
#4 sMER- £ T i SV R EE (B )= (90+80)*2-8*4+2*13.89=335.8 53.72
g E THEEE= Int(((380-80)/2)/10.0)+1=16
L+ TiE#ER= 335.8*16/100=53.72 M
#4 SME - R SV R EE(H5)= (90+80)*2-8*4+2*13.89=335.8 36.94
g th 5 28= Int(((380-80)/2)/15.0)+1=11
rhRfE#E K= 335.8*11/100=36.94 M
#4 SMER- B SV R EE(H5)= (90+80)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
BHEHRE-KERE | XOKP)AEEF )= (90-2*[{RERE]4+2*[135E E4$7]13.9)
<7 B[ *2=219.6 ]
Y(EE)EREE(HT)= (80-2*[{R#[B14+2*[135EE & £4]13.9)
*2=199.6
#4 B5- LT #4_F T B 8= Int(((380-80)/2)/10.0)+1=16 67.1
</ ETFin#ER= (219.6+199.6)*16/100=67.1 M
#4 SR M- R IR #4th i Bh= Int(((380-80)/2)/15.0)+1=11 46.1
<2 rhRiG#E R = (219.6+199.6)*11/100=46.1 M
#4 BH-BRERE #ARZEHERK=(219.6+199.6)*Int(80/10)/100= 33.53 M 335
BERTE

LREHEEH:(H1)18-#8 (fH2)X-#X
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AREBHFER:(H1)18-#10 (FH2)X-#X
BIE235E(1)%8:10-8%18%
RIRETE:

F 4 hR:(90+80)*2*380/10000=12.92 M2

AR E AR IO
%:15%:-(B26) 50*80/10000=0.40
%:2i%:-(G31) 50*80/10000=0.40
LAk /NEF:0.80 M2

FERRE R R IO RR:
%:352:30.00*16/10000=0.0480
%:4%:40.00*16/10000=0.0640
LA E/NEF:0.1120 M2

RS E R AR IO RR:
LA _E/NEF:0.00 M2

PR AR ET:12.92-[FE R 3 $£]0.80-[#F hR 32 #£10.11-[4E 15 38 $%]0.00=12.01 M2

RCEH&E:
90*80*380/1000000= 2.736 M3

Mt HAER:

#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#10=68.400 M (68.400 M*6.390/1000= 0.4371 T)

MAR/INET = 06997 T
BAR/NVET(E) = 12.01 M2
R /NET = 2.736 M3

PNA21-01-#£f&: 1F , #£X8%: C36, fiEB F55: 58 [X8:+178,Y16:+169] R~F: 90 cm * 80 cm , 4 5: 380.0 cm

#10 FHh(E1HR-—REB): (380+0)*20/100 76.00
| T+ (L) (%
[#&#=0])
#4 SMER- £ T i SV R EE ()= (90+80)*2-8*4+2*13.89=335.8 53.72
g T = Int(((380-80)/2)/10.0)+1=16
+ TiE#ER= 335.8*16/100=53.72 M
#4 SMER-P R SV R EE(H )= (90+80)*2-8*4+2*13.89=335.8 36.94
g th L5 28= Int(((380-80)/2)/15.0)+1=11
rhRfEiE K= 335.8*11/100=36.94 M
#4 SMER-BRH SV R EE(H5)= (90+80)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
BHEHR-KERE | XOKP)REEFA )= (90-2*[{RERE]4+2*[135F E4$7]13.9)
<7 B[ *2=219.6 ]
Y(EE)EREE(HB)= (80-2*[{R#[B14+2*[135FE E£4]13.9)
*2=199.6
#4 B5- LT #4_F TR 8= Int(((380-80)/2)/10.0)+1=16 67.1
</ E TR R= (219.6+199.6)*16/100=67.1 M
#4 M- R % #4th i Bh= Int(((380-80)/2)/15.0)+1=11 46.1
<7 HhRiFHER = (219.6+199.6)*11/100=46.1 M
#4 Bm-RERE HARF [EHE R =(219.6+199.6)*Int(80/10)/100= 33.53 M 33.5
BERTE

EEAEH:ER1)20-#10 ($B2)X-#X
AR EH:(F1)20-410 (FB2)X-#X
HEERR 5 (1)48:10-10*20%

ERRETE:
FHHR:(90+80)*2*380/10000=12.92 M2
HARE SO

%:1i2:-(B26) 50*80/10000=0.40
%:2i2:-(B27) 50*80/10000=0.40
%:3i2:-(G34) 50*80/10000=0.40
KL E/NE:1.20 M2
FERRGE AR R A0 R

%:1i£:30.00*16/10000=0.0480
%:3i£:30.00*16/10000=0.0480
%:4i2:40.00*16/10000=0.0640

Page 25/53



LI E/NEF:0.1600 M2
SRR
E RS 1 (B E)-:B27=15%(380-80)/10000=0.45
E RS 2(FRE )-:B26=15%(380-80)/10000=0.45
LA _E/NET:0.90 M2
$§Hls‘z+{h§:§+:12.92-[m%2§¥§]1 .20-[#EhR 32 $%]0.16-[#E 15 32 $£]0.90=10.66 M2
RCEH&E:
90*80*380/1000000= 2.736 M3

At EHR:
#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#10=76.000 M (76.000 M*6.390/1000= 0.4856 T)
$ARR/INET = 0.7483 T
BAR/NEH(E) = 10.66 M2
RN = 2.736 M3

PNA21-01-#&/8: 1F , #4t5%: C32, RIEF5%: 39 [X3:-237,Y18:-174] R~: 90 cm * 80 cm , #£5: 380.0 cm

#10 x (5 14R-—HEB): (380+0)*18/100 68.40
| T+ (Lg) (B
[#&#=0])
#4 SMER- £ T S\ B (5 2)= (90+80)*2-8*4+2*13.89=335.8 53.72
@ T E= Int(((380-70)/2)/10.0)+1=16
F T K= 335.816/100=53.72 M
#4 SMERR-P R 5\ 5 R BE(H2)= (90+80)*2-8*4+2*13.89=335.8 36.94
B rh 4 8k= Int(((380-70)/2)/15.0)+1=11
th e K= 335.8*11/100=36.94 M
#4 SN - R 5\ (F5 %)= (90+80)*2-8%4+2*13.89=335.8 23.50
B (Int(70/10))*335.8/100=23.50 M
BHEHGR-KFERE | XOKF)AREFRE)= (90-2 [(REB4+2*[135E & £4]13.9)
<7 EA *2=219.6 )
Y(EE)ARE )= (80-2 R #B]4+2* 135 $7]13.9)
*2=199.6
#4 Bip-LTim #4 £ T iHEI28= Int(((380-70)/2)/10.0)+1=16 67.1
</ F iR R= (219.6+199.6)*16/100=67.1 M
#4 BE-PRim #4rh RIFEIEL= Int(((380-70)/2)/15.0)+1=11 46.1
<7 th JifkiE R = (219.6+199.6)*11/100=46.1 M
#4 B-REE #ABRF B R =(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3
EEsTE:

EBEEG:HR1)18-#8 (H2)X-#X
ABAEER:(FE1)18-#10 ($H2)X-#X
BERE(1)#E:10-8*18%
ARt E:
F 18 KR:(90+80)*2*380/10000=12.92 M2
AR E R
%:1i8:-(B28) 50*70/10000=0.35
%:2i8:-(G39) 60*60/10000=0.36
Ll E/NEF0.71 M2
B B R R
%:1i%:30.00*16/10000=0.0480
%5:2i8:40.00*16/10000=0.0640
Ll E/NEFH:0.1120 M2
AR E RO
RS 1 (R E )-:CS=15%(380-16)/10000=0.55
RS 2(F2 K )-:B28=15%(380-70)/10000=0.47
LLE/NET:1.01 M2
Em%rﬁé?r:12.92-[&1?‘%55?%]0.71-[#imis‘z#ﬁ]m 1-[4E 4832 $£]1.01=11.09 M2
RC:EtHE:
90*80*380/1000000= 2.736 M3

ARt H AR
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
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#10=68.400 M (68.400 M*6.390/1000= 0.4371 T)
ARR/NET =0.6922 T

HBAR/NVET(E) = 11.09 M2

SRR NET = 2.736 M3

PNA21-01-4&8: 1F , 44X 85 C4, [IBRFEE: 7 [X1:-102,Y8:+224] R~t: 80 cm * 90 cm , 4 5: 380.0 cm

#10 FH(FE14R-—HRB): (380+0)*18/100 68.40
| g (Lo (4
[#&#%=0])
#4 SV f5- £ T i SRR EE(HT2)= (80+90)*2-8*4+2*13.89=335.8 53.72
g E FHES= Int(((380-80)/2)/10.0)+1=16
T K= 335.8%16/100=53.72 M
#4 SME - R S\ 45 R BE (%)= (80+90)*2-8*4+2*13.89=335.8 36.94
g o R FEEBR= Int(((380-80)/2)/15.0)+1=11
th iR R = 335.8*11/100=36.94 M
#4 SMERH-RE 5V 45 R BE (%)= (80+90)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
EMEBERR-KFER,E | XOKFE)MEEGRIE)= (80-2*[{RERB]4+2*[135EF &$7]13.9)
<2 (4G *2=199.6 )
Y(EE)RRE ()= (90-2*[{REE]14+2*[135E & §7]13.9)
*2=219.6
#4 - F TR #4_F TR 8= Int(((380-80)/2)/10.0)+1=16 67.1
< F Tk K= (199.6+219.6)*16/100=67.1 M
#4 B& 7 -th R b #4rh IR B E= Int(((380-80)/2)/15.0)+1=11 46.1
<7 P RiEfER= (199.6+219.6)*11/100=46.1 M
#4 Bm-BERE HAR B EHEK=(199.6+219.6)*Int(80/10)/100= 33.53 M 33.5
BERTE:

AT GR1)18-#10 (#H2)X-#X
ARBHFEEFH(FE1)18-#10 (FH2)X-#X
1BHEIRE(1)40:10-10%18%%
ERETE:
F48HR:(80+90)*2*380/10000=12.92 M2
RSB AE IR OB
%:158:-(G4) 70*50/10000=0.35
25:2i8:-(B16) 50*80/10000=0.40
2£:338:-(G21) 50*80/10000=0.40
25:438:-(b0) 30*45/10000=0.14
LL_E/NET1.29 M2
FE MBI AR IR IO BR:
25:1i8:40.00*16/10000=0.0640
25:2i8:30.00*16/10000=0.0480
25:3i8:40.00*16/10000=0.0640
25:438:50.00*16/10000=0.0800
Ll _E/VE:0.2560 M2
NS E AR R O B
B 1(FRE)-:B16=15%(380-80)/10000=0.45
B2 (MR )-:S0a=15%(380-15)/10000=0.55
A 3(FRIE )-:b0=15*(380-45)/10000=0.50
I A(E BorEZ):=15%(120-0)/10000=0.18
LL_E/NE:1.68 M2
$§H@rﬁ§§+:12.92-{m§!§¥§]1 29-[#EhR 33 $%]0.26-[#E 15 X $£]1.68=9.70 M2
RCE&E:
80*90*380/1000000= 2.736 M3

At EHER:
#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#10=68.400 M (68.400 M*6.390/1000= 0.4371 T)
SMAR/INET = 06997 T
BAR/NVET(E) = 9.70 M2
R /NGt = 2.736 M3
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PNA21-01-t&[8: 1F , #4C8F: CO, fiEFHR: 18 [X2:-222,Y8:+224] R~f: 80 cm * 90 cm , 45 380.0 cm

#10 (14— HRB): (380+0)*18/100 68.40
| 5 2 (Lo (5
[#4£=0))
#4 SEf- £ T i SR ()= (80+90)*2-8*4+2*13.89=335.8 53.72
[; E T E= Int(((380-80)/2)/10.0)+1=16
TR K= 335.8*16/100=53.72 M
#4 s R-Th R SR ()= (80+90)*2-8*4+2*13.89=335.8 36.94
[; R #EEBR= Int(((380-80)/2)/15.0)+1=11
th R fE#E R = 335.8*11/100=36.94 M
#4 s\ 5B SMEREE(HT)= (80+90)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
EHELR-KER,E X(KF)RRE (A F4E)= (80-2*[{Ri&B14+2*[135E & §5]13.9)
< Em[ *2=199.6 .
Y(EE)AREE(HBE)= (90-2*[{R#[B14+2*[135EE E£4]13.9)
*2=219.6
#4 B E T #4_t T i E B= Int(((380-80)/2)/10.0)+1=16 67.1
</ LT E= (199.6+219.6)*16/100=67.1 M
#4 BA-th g #4th R EE Bh= Int(((380-80)/2)/15.0)+1=11 46.1
N rh ik R = (199.6+219.6)*11/100=46.1 M
#4 BH-REE HATR R [EHE R =(199.6+219.6)*Int(80/10)/100= 33.53 M 33.5
BERIE:

EREHEETHE1)18-#10 ($H2)X-#X
ABHTH:(HE1)18-#10 ($H2)X-#X
{BIEIREE(1)40:10-10*18%

RhREt H:

F kR (80+90)*2*380/10000=12.92 M2

FERRE AR R ORR:

:152:-(G8) 50*65/10000=0.33
55:2i%:-(B15) 50*80/10000=0.40
%:3i2:-(G25) 50*80/10000=0.40
%:4;2:-(B16) 50*80/10000=0.40
KL E/NEH:1.53 M2

HEMRE AR MR O BR:

%5:1i£:40.00*16/10000=0.0640
£8:2i%:30.00*16/10000=0.0480
%£:3i£:40.00*16/10000=0.0640
%5:4i£:30.00*16/10000=0.0480
Ll E/hET:0.2240 M2

RS E AR RO RR:

EIENE 1 (B E)--B16=15*(380-80)/10000=0.45

BIENE 2(BE)--G8=15%(380-65)/10000=0.47

KL E/NET:0.92 M2
AR AEET:12.92-[#F R 3 HE]1.53-[#E kR XX $#£]0.22- [ 153 $£]0.92=10.25 M2

RCEH&E:

80*90*380/1000000= 2.736 M3

MEET EER:

#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#10=68.400 M (68.400 M*6.390/1000= 0.4371 T)

8 A7 /NET = 0.6997 T

BRR/NEH(E) = 10.25 M2

EREL /NG =2.736 M3

PNA21-01-#&/8: 1F , #4t5%: C29, fIE R4 32 [X3:-242,Y10:+54] R~: 80 cm * 90 cm , #£5;: 380.0 cm

#10

EH(E1E-—RE):
EfF+HER(Lg) (1
[##=0])

(380+0)*16/100

60.80
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SME - £ T i SV R E (B R2)= (80+90)*2-8*4+2*13.89=335.8 53.72
L+ THEE24= Int(((380-80)/2)/10.0)+1=16
L+ TFiE#ER= 335.8%16/100=53.72 M

#4

S48 55 o YL R FE (5 7)= (80+90)*2-8*4+2+13.89=335.8 36.94
o R B B= Int(((380-80)/2)/15.0)+1=11
R4 R = 335.811/100=36.94 M

#4

(Int(80/10))*335.8/100=26.86 M

i%ﬁéiﬁﬁ-zka‘uﬂ,ﬁ XOKFE)ERE(HHAE)= (80-2*[{R#EB]4+2*[135E & $7]13.9)
BE *2=199.6
Y(EE)AREHRE)= (90-2[REE14+2*[135EE$7]13.9)
*2=219.6

BT #4 T i%E %= Int(((380-80)/2)/10.0)+1=16 67.1
LTk = (199.6+219.6)16/100=67.1 M

#4

8-l #4rh R B EE= Int(((380-80)/2)/15.0)+1=11 46.1
th R ifkiE R = (199.6+219.6)*11/100=46.1 M

#4

BE-BEE HAREEE=(199.6+219.6)*Int(80/10)/100= 33.53 M 33.5

#4 g o\ A -BR SMERE(H )= (80+90)*2-8*4+2*13.89=335.8 26.86
#4

BERAE
EEEEH:(HR1)16-#8 (FH2)X#X
ABAEH:(HE1)16-#10 ($82)X-#X
1BHEIRE(1)40:10-8*16%
EhRETE:
F 1% KR:(80+90)*2*380/10000=12.92 M2
FERE R MR RR:
25:1i8:-(G28) 50*80/10000=0.40
25:2i8:-(B17) 50*80/10000=0.40
LU E/NEH0.80 M2
FERRE AR AR O BR:
25:1i8:40.00*16/10000=0.0640
25:438:30.00*16/10000=0.0480
B E/NEE:0.1120 M2
AR E AR AR OB
3 U1 (FRE )-:G28=15%(380-80)/10000=0.45
LU E/NEH0.45 M2
ﬁm%rﬁéﬁ:12.92-[*1?%3??%]o.so-ﬁzﬁﬁsﬂi]o.1 1-[#E 4532 $£]0.45=11.56 M2
RCEE:
80*90*380/1000000= 2.736 M3

Mt EHER:
#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#10=60.800 M (60.800 M*6.390/1000= 0.3885 T)
$MER/NET =06511 T
BRI (E) = 11.56 M2
R /NGt = 2.736 M3

PNA21-01-#£f8: 1F , #HK58%: C26, LB 5k 19 [X2:-222,Y10:+54] R~: 80 cm * 90 cm, #&: 380.0 cm

#10 FEA(E1HE-—REB): (380+0)*18/100 68.40
| -+ (Lg) (B
[#&#£=0])
#4 SMERR-L T i SMERE(H )= (80+90)*2-8*4+2*13.89=335.8 53.72
g + THEREZ= Int(((380-80)/2)/10.0)+1=16
+ FHE# K= 335.816/100=53.72 M
#4 SME - R SMERE(H )= (80+90)*2-8*4+2*13.89=335.8 36.94
g th RG] 28= Int(((380-80)/2)/15.0)+1=11
th R fERE K= 335.8*11/100=36.94 M
#4 SME - SMERE(H )= (80+90)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
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EmEBERR-KER,E XOKFE) R E(HHAE)= (80-2*[{R#EB]4+2*[135E & $7]13.9)
<2 B *2=199.6 ]
Y(BE)EERE(H )= (90-2* IR B4+2*[1355 E£4]13.9)
*2=219.6
#4 BE- Tk #4 & T 85 B 2= Int(((380-80)/2)/10.0)+1=16 67.1
<2 LT E= (199.6+219.6)16/100=67.1 M
#4 B-rh i #Ath R 2= Int(((380-80)/2)/15.0)+1=11 46.1
<7 oh SR i85 = (199.6+219.6)*11/100=46.1 M
#4 BE-BEE #AR T E 5 =(199.6+219.6)*Int(80/10)/100= 33.53 M 33.5
fBEEtE:

EREEEH:HR1)18-#10 (FE2)X-#X
AREHFEF:(FE1)18-#10 (FH2)X-#X
1BHEIRE(1)40:10-10%18%%

BhRET &
F48HR:(80+90)*2*380/10000=12.92 M2
PR E AR MO RR:

%:138:-(G25) 50*80/10000=0.40
25:2i8:-(B17) 50*80/10000=0.40
25:3i8:-(B18) 50*80/10000=0.40
LL_E/VET1.20 M2
FERRE BEAR MR A0 B
25:138:40.00*16/10000=0.0640
25:2i8:30.00*16/10000=0.0480
25:43%:30.00*16/10000=0.0480
L _E/VET:0.1600 M2
RS E AR MO R
L _E/VE:0.00 M2

ﬁm%rﬁé?m 2.92-[#F R $#]1.20-[#E iR 33 $£]0.16-[#E 45 32 $£]0.00=11.56 M2

RCEHE:
80*90*380/1000000= 2.736 M3

At EHER:
#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#10=68.400 M (68.400 M*6.390/1000= 0.4371 T)
$MER/INET =0.6997 T
BAR/NEH(E) = 11.56 M2
iR /NE =2.736 M3

PNA21-01-#£&: 1F , #£08%: C22, fiBF5E: 8 [X1:-102,Y10:+54] R~F: 80 cm * 90 cm , #&: 380.0 cm

#10 EH(E14E-—ARE): (380+0)*16/100 60.80
| I+ (Lg) (B
[#&#£=0])
#4 5\ A5 - £ T i s\E R B ()= (80+90)*2-8*4+2*13.89=335.8 53.72
g T HEBI = Int(((380-80)/2)/10.0)+1=16
I T K= 335.816/100=53.72 M
#4 HME - R SMERE(H )= (80+90)*2-8*4+2*13.89=335.8 36.94
g o SRR E8= Int(((380-80)/2)/15.0)+1=11
th R fERE K= 335.8*11/100=36.94 M
#4 SV iR -BR 5\ {5 R BE (%)= (80+90)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
BHEBEHRER-KTER,E | XOKE)AEEGRIE)= (80-2*[{REE]14+2*[135E & £7]13.9)
<7 (1G] *2=199.6 7
Y(EE)EREE(HB)= (90-2*[{R#[B14+2*[135EE £ £4]13.9)
*2=219.6
#4 Bi5-ETig #4 T iRE 8= Int(((380-80)/2)/10.0)+1=16 67.1
</ ETiR#ER= (199.6+219.6)*16/100=67.1 M
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#4 BRH-h Rk #4oh RinEE= Int(((380-80)/2)/15.0)+1=11 46.1
< / P Rin#E K= (199.6+219.6)*11/100=46.1 M
#4 BH-REE HARRZ R R=(199.6+219.6)*Int(80/10)/100= 33.53 M 33.5
faEsRa®E:

EBREEE(H1)16-#10 (FA2)X-#X
AREFEF:(E1)16-#10 (FH2)X-#X
1BHEIRE(1)40:10-10%163%
BhRET &
F48HR:(80+90)*2*380/10000=12.92 M2
PR E AR MO RR:
2:138:-(G21) 50*80/10000=0.40
25:2i8:-(B18) 50*80/10000=0.40
Ll _E/VEE:0.80 M2
FERRE AR M A0 B
25:1i8:40.00*16/10000=0.0640
25:2i8:30.00*16/10000=0.0480
25:43%:80.00*16/10000=0.1280
LL_E/NE:0.2400 M2
RS E AR MO RR:
1 (MUK )-:CS=15*(380-16)/10000=0.55
B2 (MK )-:CS=15*(380-16)/10000=0.55
TR 3(FRE )-:G21=15*(120-80)/10000=0.06
LLE/NER1.15 M2
ﬁm%rfg?m2.92-[*11}‘%&?&]o.so-ﬁzmiﬁ?%]o.24-[&;1%3??%]1 .15=10.73 M2
RCEH&E:
80*90*380/1000000= 2.736 M3

At EHER:
#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#10=60.800 M (60.800 M*6.390/1000= 0.3885 T)
$MER/NET =0.6511 T
BAR/INET(E) = 10.73 M2
iR /INE =2.736 M3

PNA21-01-#£f8: 1F , #K58%: C34, LB 5%: 38 [X3:-237,Y16:+209] R~F: 90 cm * 80 cm, #&: 380.0 cm

#10 FHh(E1HR-—REB): (380+0)*18/100 68.40
| T+ (L) (%
[#E#=0))
#4 sMER- £ T i SV R EE (B )= (90+80)*2-8*4+2*13.89=335.8 53.72
g T = Int(((380-70)/2)/10.0)+1=16
L+ TiE#ER= 335.8*16/100=53.72 M
#4 SME - R SV R EE(H5)= (90+80)*2-8*4+2*13.89=335.8 36.94
g th A5 28= Int(((380-70)/2)/15.0)+1=11
rhRfE#E K= 335.8*11/100=36.94 M
#4 SMER- B SV R EE(H5)= (90+80)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
BHEHRE-KERE | XOKP)AEEF )= (90-2*[{RERE]4+2*[135E E4$7]13.9)
<7 B[ *2=219.6 .
Y(EE)EREE(HT)= (80-2*[{R#[B14+2*[135EE & £4]13.9)
*2=199.6
#4 B5- LT #4_F TR 8= Int(((380-70)/2)/10.0)+1=16 67.1
</ ETFin#ER= (219.6+199.6)*16/100=67.1 M
#4 SR M- R IR #4th i Bh= Int(((380-70)/2)/15.0)+1=11 46.1
<7 hRiEHER = (219.6+199.6)*11/100=46.1 M
#4 BhHh-RERE HARF [EHER=(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3
BERTE

LEMEEH:(RE1)18-#10 ($H2)X-#X
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AREBHFER:(H1)18-#10 (FH2)X-#X
1EIEEREE(1)58:10-10"18%
RIRETE:

F 4 hR:(90+80)*2*380/10000=12.92 M2

AR E AR IO
%:15%:-(B28) 50*70/10000=0.35
%:2i%:-(G36) 60*60/10000=0.36
%:3%:-(B28) 50*70/10000=0.35
LLE/NET:1.06 M2

FERRE R RO RR:
:172:30.00*16/10000=0.0480
%:2i%:40.00*16/10000=0.0640
%:352:30.00*16/10000=0.0480
LLE/NET:0.1600 M2

RS E AR R IO RR:

E RS 1(E)-:B28=15%(380-70)/10000=0.47
E iR 2(RE)-:G36=15*(380-60)/10000=0.48
E i 3(BE)-:B28=15%(380-70)/10000=0.47

LLE/NVET:1.41 M2

AR RS 12.92-[#F#R 3 E]1.06-[#E R 32 $%]0.16-[#E #5 3 $£]1.41=10.29 M2

RC:tHE&E:
90*80*380/1000000= 2.736 M3

Mt HEAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#10=68.400 M (68.400 M*6.390/1000= 0.4371 T)

/et = 0.6922 T
&ERR/NET(F) = 10.29 M2
BAEL /NGt = 2736 M3

PNA21-01-#£[&: 1F , #5885 C5, SIEFF5%: 6 [X1:-82,Y8:-116] R~:80 cm * 90 cm , 45 380.0 cm

#8 EH(E14E-—ARRE): (380+0)*18/100 68.40
| E B (Lg)(JEE
[#E#=0))
#4 SER- L T i S\E R B ()= (80+90)*2-8*4+2*13.89=335.8 57.08
g T HEBIE= Int(((380-60)/2)/10.0)+1=17
+TFiERE K= 335.8*17/100=57.08 M
#4 ST R SV R EE(H )= (80+90)*2-8*4+2*13.89=335.8 36.94
g rh J 45 B 4= Int(((380-60)/2)/15.0)+1=11
th R fERE K= 335.8*11/100=36.94 M
#4 SNER-BRE SR EE(H )= (80+90)*2-8*4+2*13.89=335.8 20.15
g (Int(60/10))*335.8/100=20.15 M
BHBEHR-KERE | XOKF)RREG )= (80-2 [{R#EE]4+2*[135FE #4$1]13.9)
</ Em[ *2=199.6 .
Y(EE) AR E(HB)= (90-2*[{R#[B14+2*[135EE £ £4]13.9)
*2=219.6
#4 BA5-ETi% #4 T iRBE= Int(((380-60)/2)/10.0)+1=17 71.3
</ ETiR#ER= (199.6+219.6)*17/100=71.3 M
#4 BEh-p R #4Th R 55 B= Int(((380-60)/2)/15.0)+1=11 46.1
<2 HhRiFHE R = (199.6+219.6)*11/100=46.1 M
#4 BhHh-BERE HAR B =48 K =(199.6+219.6)*Int(60/10)/100= 25.15 M 25.1
BERIE

EERI:(1)16-#8 (f2)X-#X
AR EH:(H1)18-#8 (#2)X-#X
1EERR5E(1)%0:8-8* 16
B E (2)4:8-T2X
EARETE:
FHEHR:(80+90)*2*380/10000=12.92 M2
HRE SRR
%:15:8:-(b2) 35*60/10000=0.21
%:2;:8:-(B8) 50*50/10000=0.25
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%:35%:-(G4) 70*50/10000=0.35
%:4i%:-(B8a) 70*50/10000=0.35
LLE/NEE:1.16 M2

FERRE IR IR IR
%:1i%:55.00%16/10000=0.0880
%:2i%:30.00%16/10000=0.0480
%:3i%:40.00%16/10000=0.0640
%:4i%:10.00%16/10000=0.0160
LL_E/NEH:0.2160 M2

NS BRI

E RS 1 (B E)-:B8a=15*(380-50)/10000=0.50
TE RS 2(FRE)-:B8=15%(380-50)/10000=0.50

LA _E/NET:0.99 M2

RARAEET:12.92-[AF ER 32 H]1.16- [T hiR 32 $£]0.22- [#E 18 32 $£]0.99=10.55 M2

RC:tH&E:
80*90*380/1000000= 2.736 M3

et EAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=68.400 M (68.400 M*3.980/1000= 0.2722 T)

$ArR/INET = 0.5274 T
BAR/NVEH(E) = 10.55 M2
R /NET = 2.736 M3

PNA21-01-#£f&: 1F , #EK5%: C25, fIE F 3k 25 [X2:-232,Y17:+39] R~t: 125 cm * 70 cm, #£&: 380.0 cm

#8 F (5 14R-—HEB): (380+0)*22/100 83.60
| T+ (Lg) (B
[#&#%=0])
#4 SMER- £ T 55 R EE ()= (125+70)*2-8*4+2*13.89=385.8 61.72
@ T E= Int(((380-80)/2)/10.0)+1=16
F T K= 385.816/100=61.72 M
#4 SMERR-P R 5\iE R EE ()= (125+70)*2-8*4+2*13.89=385.8 42.44
@ rh S B 2k= Int(((380-80)/2)/15.0)+1=11
th e K= 385.8*11/100=42.44 M
#4 SNER-BRE 55 R EE ()= (125+70)*2-8*4+2*13.89=385.8 30.86
@ (Int(80/10))*385.8/100=30.86 M
BHEHR-KERE | XOKF)RREFBE)= (125-2" [REE4+2*[135E & )
<7 EM 13.9)*2=289.6 _
Y(EE)ARE )= (70-2* R EB]4+2* 135K $]13.9)
*4=359.1
#4 B - £ T #4 + T i%E 2= Int(((380-80)/2)/10.0)+1=16 103.8
<2 F i R= (289.6+359.1)*16/100=103.8 M
#4 BE-PRim #4rh R IR B EL= Int(((380-80)/2)/15.0)+1=11 71.4
<7 i R = (289.6+359.1)*11/100=71.4 M
#4 BiH-BREE HARR R [EHE K =(289.6+359.1)*Int(80/10)/100= 51.89 M 51.9
EESETE:

LEEFTE:(E1)18-#8 (FH2)X-#X
RBAE T 5 (H1)22#8 (#A2)XHX
BRI (1)4:8-8*18%
BEREQ)ME:S-T4X
BARETE:
F1EhR:(125+70)*2*380/10000=14.82 M2
AR E AR RO RR:
%5:152:-(G40) 50*80/10000=0.40
5:2i%:-(B21) 55*80/10000=0.44
LA E/NET:0.84 M2
FERRE AR R A0 B
%:178:20.00*16/10000=0.0320
££:358:70.00*16/10000=0.1120
%:48:40.00*16/10000=0.0640
LA E/NET:0.2080 M2
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SRR
EHEE:1 (B E)-:G40=15*(380-80)/10000=0.45
E R 2(MRE )-:S0=20%(380-16)/10000=0.73
E R 3(MRE)-:S0=20%(380-16)/10000=0.73
LLE/NET:1.91 M2
$§HJ:‘<+.‘&§:E+:14.82-[&*%&?%]0.84-[&#&3*&#%]0.21 -[#EHE3H£]1.91=11.87 M2
RCEH&E:
125*70*380/1000000= 3.325 M3

At EHR:
#4=362.063 M (362.063 M*0.994/1000= 0.3599 T)
#8=83.600 M (83.600 M*3.980/1000= 0.3327 T)
$AfR/INET =0.6926 T
BAR/NEH(E) = 11.87 M2
R /NET = 3.325 M3

PNA21-01-#£f&: 1F , #£L5%: C20, fIE F5%: 65 [X10:+74,Y7:-232] R~t: 90 cm * 80 cm , #75: 380.0 cm

#8 ERF(E14-—HRE): (380+0)*20/100 76.00
| T H -+ (Lg)(HEHE
[#&#=0])
#4 SMER-L T SR EE ()= (90+80)*2-8*4+2*13.89=335.8 53.72
@ L+ THE %= Int(((380-80)/2)/10.0)+1=16
T K= 335.8%16/100=53.72 M
#4 SMERR-h R S\ B (5 4)= (90+80)*2-8*4+2*13.89=335.8 36.94
@ R EE 2= Int(((380-80)/2)/15.0)+1=11
R fERE R = 335.8*11/100=36.94 M
#4 SMER-RE SR E(H )= (90+80)*2-8*4+2*13.89=335.8 26.86
@ (Int(80/10))*335.8/100=26.86 M
EMBHR-KERE | XOKE)MEEFBE)= (90-2[{REB14+2*[135EE£$7]13.9)
</ (=G *2=219.6 )
Y(EE)EKE(H )= (80-2*[{R#B]14+2* 135 E4$7]13.9)
*2=199.6
#4 B55- T ig #4_F TR E B= Int(((380-80)/2)/10.0)+1=16 67.1
<7 L TFigiE K= (219.6+199.6)*16/100=67.1 M
#4 BE-PRim #4rh R IFEIEL= Int(((380-80)/2)/15.0)+1=11 46.1
<7 R R = (219.6+199.6)*11/100=46.1 M
#4 B H-BREE HARZ [ERE R =(219.6+199.6)*Int(80/10)/100= 33.53 M 335
BERHE:

LR E:(41)20-48 ($H2)X-#X
ABHERH:(H01)20-#8 (FH2)X-#X
BERE(1)48:8-8*20%

ARt E:

F 18 KR:(90+80)*2*380/10000=12.92 M2
HEARE RO
%:1i%:-(B13) 50*80/10000=0.40
%5:258:-(G44) 50*80/10000=0.40
%:3i%:-(B14) 50*80/10000=0.40
%:45%:-(G14) 50*80/10000=0.40
Ll EsNEH1.60 M2
FERRE A AR O
%:1i%:30.00*16/10000=0.0480
5:2i%8:40.00*16/10000=0.0640
%5:3:%:30.00*16/10000=0.0480
5:4:8:40.00*16/10000=0.0640
Ll E/NEH0.2240 M2
AR E RO
IR 1 (FRE )-:B14=25*(380-80)/10000=0.75
TR 2(12 K )-:B13=25%(380-80)/10000=0.75
Ll E/NEE1.50 M2
$§Hl%rfﬁ§§+:1 2.92-[FE 23X $%]1.60-[4E kiR 32 $£]0.22-[#F 12 32 $%]1.50=9.60 M2
RCEHE:
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90*80*380/1000000= 2.736 M3

Mt EHER:
#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#8=76.000 M (76.000 M*3.980/1000= 0.3025 T)
$ARR/INET = 05651 T
HBAR/NET(E) = 9.60 M2
SRR /NET = 2.736 M3

PNA21-01-#/8: 1F , #4X58: C17, L1 5 61 [X8:-109,Y7:-88] R~F: 90 cm * 80 cm , 4¥&: 380.0 cm

#8 FH(FE148-—HRE): (380+0)*18/100 68.40
| g (Lo (B
[#&#%=0])
#4 SV f5- £ T i SRR EE (5 T2)= (90+80)*2-8*4+2*13.89=335.8 53.72
g L+ THEEI = Int(((380-80)/2)/10.0)+1=16
T K= 335.8%16/100=53.72 M
#4 SME - R 5145 R BE (%)= (90+80)*2-8*4+2*13.89=335.8 36.94
g R FEEBR= Int(((380-80)/2)/15.0)+1=11
th iR R = 335.8*11/100=36.94 M
#4 SMERR-RE SV R BE (5 2)= (90+80)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
EMEBERR-KFR,E | XOKE)MEEGRIE)= (90-2*[{RERB]4+2*[135EF &$7]13.9)
<2 (4G *2=219.6 )
Y(EE)RRE ()= (80-2*[{REE]14+2*[135E & §7]13.9)
*2=199.6
#4 - F Tk #4_F TR 2= Int(((380-80)/2)/10.0)+1=16 67.1
< F Tk K= (219.6+199.6)*16/100=67.1 M
#4 B& 7 -th R b #4rh IR B E= Int(((380-80)/2)/15.0)+1=11 46.1
<7 iR = (219.6+199.6)*11/100=46.1 M
#4 BH-BRERE HAR B EHEK=(219.6+199.6)*Int(80/10)/100= 33.53 M 33.5
BERTE:

R EA:(HR1)18-#8 (FH2)X#X
AREFEEFH:(FE1)18-#8 (#H2)X-#X
B RS (1)1H:8-8"18%
EhRETE:
F48HR:(90+80)*2*380/10000=12.92 M2
RSB AE IR OB
%:138:-(B11) 50*80/10000=0.40
25:2i8:-(G14) 50*80/10000=0.40
25:3i8:-(B12) 50*80/10000=0.40
25:438:-(G15) 50*80/10000=0.40
LL_E/VEH1.60 M2
FE MBS AR R O B
25:138:30.00*16/10000=0.0480
25:2i8:40.00*16/10000=0.0640
25:338:30.00*16/10000=0.0480
25:438:40.00*16/10000=0.0640
LL_E/VEF:0.2240 M2
S E AR R O PR
TR 1 (FRE )-:B12=25*(380-80)/10000=0.75
T 2(FRIE )-:B11=25%(380-80)/10000=0.75
LL_E/NER1.50 M2
ﬁm%rfg?m 2.92-[#F#R 3 ##]1.60-[#E ki 33 $]0.22-[#F #5 32 $£]1.50=9.60 M2
RCEH&E:
90*80*380/1000000= 2.736 M3

At EER:
#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#8=68.400 M (68.400 M*3.980/1000= 0.2722 T)
SMER/INET = 05349 T
BRR/NVET(E) = 9.60 M2
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RAE T /NG = 2.736 M3

PNA21-01-#/8: 1F , #4X%8: C17, B3R 55 [X7:+209,Y7:+56] R~t: 90 cm * 80 cm , 4 380.0 cm

#8 FH(FE148-—HRB): (380+0)*18/100 68.40
| g (Lo)
[#&#%=0])
#4 VRS- £ T i SRR EE (5 F2)= (90+80)*2-8*4+2*13.89=335.8 53.72
g L+ FHEB= Int(((380-80)/2)/10.0)+1=16
T K= 335.8%16/100=53.72 M
#4 SME - R 5145 K BE (%)= (90+80)*2-8*4+2*13.89=335.8 36.94
g R FEE2R= Int(((380-80)/2)/15.0)+1=11
th R fERE R = 335.8*11/100=36.94 M
#4 SMERR-RE 5145 R BE (%)= (90+80)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
EMEBERER-KFR,E | XOKFE)MEEGRIE)= (90-2*[{RERB]4+2*[135EF &$7]13.9)
<7 (4G *2=219.6 )
Y(EHE)ERE(F )= (80-2*[{R#[B]4+2*[135F E$4]13.9)
*2=199.6
#4 - F TR #4_F T B 2= Int(((380-80)/2)/10.0)+1=16 67.1
< ETFik#E K= (219.6+199.6)*16/100=67.1 M
#4 B& 7 -th R b #4rh IR B E= Int(((380-80)/2)/15.0)+1=11 46.1
<7 PR = (219.6+199.6)*11/100=46.1 M
#4 BhH-BRERE HAR B EHEK=(219.6+199.6)*Int(80/10)/100= 33.53 M 33.5
BERTE:

R EA:(HR1)18-#8 (FH2)X#X
AREFEEFH:(FE1)18-#8 ($H2)X-#X
B RE(1)1H:8-8"18%
EhRETE:
F48HR:(90+80)*2*380/10000=12.92 M2
RSB IR OB
%:1i8:-(B11) 50*80/10000=0.40
25:2i8:-(G15) 50*80/10000=0.40
25:3i8:-(B12) 50*80/10000=0.40
25:438:-(G15) 50*80/10000=0.40
LL_E/VET1.60 M2

FE MBI AR R 3O B
25:138:30.00*16/10000=0.0480
25:2i8:40.00*16/10000=0.0640
25:3i8:30.00*16/10000=0.0480
25:438:40.00*16/10000=0.0640
LL_E/VE:0.2240 M2

RS E AR R OB
Ll _E/VEF:0.00 M2

ﬁm%rﬁg?m 2.92-[#F R $#]1.60-[#E iR 33 $£]0.22-[#F 5 32 $£]0.00=11.10 M2

RCEHE:
90*80*380/1000000= 2.736 M3

At EHER:
#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#8=68.400 M (68.400 M*3.980/1000= 0.2722 T)
$MER/INET = 05349 T
BAR/NEH(E) = 11.10 M2
R /NET = 2.736 M3

PNA21-01-#£f8: 1F , #H58%: C21, LB 5k 63 [X9:-214,Y8:-207] R~t: 90 cm * 80 cm , #&: 380.0 cm

#8 EH(EE-—RRE): (380+0)*20/100 76.00
T H+EE(Lg) (%
[#&$#=0])
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#4 SMER- £ T i

SR (F )= (90+80)*2-8*4+2*13.89=335.8
L+ T #EE= Int((380-65)/2)/10.0)+1=16
T iE# R = 335.816/100=53.72 M

53.72

#4

SR E(H )= (90+80)*2-8*4+2*13.89=335.8
h S 2R= Int(((380-65)/2)/15.0)+1=11
R iERE R = 335.8*11/100=36.94 M

36.94

SR E(H )= (90+80)*2-8*4+2*13.89=335.8
(Int(65/10))*335.8/100=20.15 M

20.15

XOKTF)RRE(H )= (90-2*[{RE B14+2*[135 ££44]13.9)

*2=219.6

Y(EE)AREHRE)= (80-2[REE4+2*[135EE$7]13.9)

*2=199.6

#4

#4 & T I E 8= Int(((380-65)/2)/10.0)+1=16
L T8 E= (219.6+199.6)*16/100=67.1 M

67.1

#4

#Ath R IFE = Int(((380-65)/2)/15.0)+1=11
rhR %48 K= (219.6+199.6)*11/100=46.1 M

46.1

#4

[
R
" U

HARRZ R R=(219.6+199.6)*Int(65/10)/100= 25.15 M

251

FERIE
EBAEEES(H01)20-#8 (B2)X-#X
KRBT 5:(11)20-#8 (482)X-#X
B35 (1)10:8-8°20%
BhRET &
I #847:(90+80)*2+380/10000=12.92 M2
PR E AR MO RR:
%:1i2:-(G17) 50*65/10000=0.33
5:2i%:-(CB12) 45*60/10000=0.27
%:3i%:-(G17) 50*65/10000=0.33
Ll _E/NEH:0.92 M2
FE MBI AR IR OB
%5:1i2:80.00*16/10000=0.1280
5:2i%:40.00*16/10000=0.0640
%5:3i2:30.00*16/10000=0.0480
%5:43%:40.00*16/10000=0.0640
Ll _E/NEF:0.3040 M2
RS E AR R O PR

E RS 1(RE)-:G17=25%(380-65)/10000=0.79
EEE2(BE)-:G17=25%(380-65)/10000=0.79

LLE/VE:1.58 M2

AR AEET:12.92-[FE R X $£]0.92-[#F iR 32 $10.30- [ 15 38 $%]1.58=10.12 M2

RCEHE:
90*80*380/1000000= 2.736 M3

MAnEt HAER:

#4=249.119 M (249.119 M*0.994/1000= 0.2476 T)
#8=76.000 M (76.000 M*3.980/1000= 0.3025 T)

$MER/INET = 05501 T
BAR/NVET(E) = 10.12 M2
R /NET = 2.736 M3

PNA21-01-#8: 1F , #1558 C31, M EF:

37 [X3:-242,Y15:+144] R~f: 80 cm * 90 cm , 4 &: 380.0 cm

#10 F(E1HE-—REE): (380+0)*22/100 83.60
| SR (Lg) (B
[#&#£=0])
#5 SMEfR- £ T i SMERE(H )= (80+90)*2-8*4+2*13.89=335.8 53.72
@ + THERE2= Int(((380-80)/2)/10.0)+1=16
I FHE# K= 335.816/100=53.72 M
#4 HME - R SMERE(H )= (80+90)*2-8*4+2*13.89=335.8 36.94
@ SR 5B B0= Int(((380-80)/2)/15.0)+1=11
th R fEHE K= 335.8*11/100=36.94 M
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#5 SN - SN R (B T)= (80+90)*2-8*4+2+13.89=335.8 26.86
@ (Int(80/10))*335.8/100=26.86 M
BmEBERR-KER,E XOKFE) R E(HHAE)= (80-2*[{R#EB]4+2*[135E & 41]17.7)
<7 | Em *2=214.6 )
Y(BE)EERE(HRAL)= (90-2* IR EB4+2*[135 E80]17.7)
*2=234.6
#5 B £ Tk #5_& T 4B #= Int(((380-80)/2)/10.0)+1=16 71.9
<2 L i R= (214.6+234.6)*16/100=71.9 M
#5 B-rh R #50h RIHE B = Int(((380-80)/2)/15.0)+1=11 49.4
<7 R E = (214.6+234.6)11/100=49.4 M
#5 BEH-BEE #5R T E M E=(214.6+234.6)*Int(80/10)/100= 35.94 M 35.9
FEEHE

FBH R (1)22-#10 ($82)X-#X
ABH T (41)22-#10 ($82)X-#X
B (1)4:10-10722%

BhREHH:

F 1 hfr:(80+90)*2*380/10000=12.92 M2

HEEERAR MO

%:15%:-(G30) 50*80/10000=0.40
%:25%:-(G33) 60*60/10000=0.36
%:35%:-(B28) 50*70/10000=0.35
%:458:-(B17) 50*80/10000=0.40
LLE/NET:1.51 M2

HEMRE R AR M 0 PR

%:15%:40.00*16/10000=0.0640
%:25%:30.00*16/10000=0.0480
%:35%:40.00*16/10000=0.0640
%:45%:30.00*16/10000=0.0480
LLE/VET:0.2240 M2

FEHEE AR RO RR:

1 (KK )-:B28=15%(380-70)/10000=0.47
B 2(FRE)-:G33=15%(380-60)/10000=0.48
LL_E/NEF:0.95 M2
WRRAEET:12.92-[FE R H5]1.51-[#F iR 32 $10.22- [ 15 38 $%]0.95=10.24 M2

RCEtH&E:

80*90*380/1000000= 2.736 M3

M EER:
#4=36.936 M (36.936 M*0.994/1000= 0.0367 T)
#5=237.829 M (237.829 M*1.560/1000= 0.3710 T)
#10=83.600 M (83.600 M*6.390/1000= 0.5342 T)

SMER/INET =0.9419 T
BAR/NVET(E) = 10.24 M2
R /NGt = 2.736 M3

PNA21-01-#£f8: 1F , #K5%: C22, fIEFF5%: 10 [X1:-102,Y10:+154] R~F: 80 cm * 90 cm, #&: 380.0 cm

#10 F(E1E-—REE): (380+0)*16/100 60.80
| I+ (Lg) (B
[#&8#£=0])
#4 SMEfR- £ T i HMERE(H )= (80+90)*2-8*4+2*13.89=335.8 53.72
g + THERE2= Int(((380-80)/2)/10.0)+1=16
+ FHE# K= 335.816/100=53.72 M
#4 SV - R HMERE(H )= (80+90)*2-8*4+2*13.89=335.8 36.94
g rh SR 5B 20= Int(((380-80)/2)/15.0)+1=11
th R fERE K= 335.8*11/100=36.94 M
#4 ST - MERE(H )= (80+90)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
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EmEBERR-KER,E XOKFE) R E(HHAE)= (80-2*[{R#EB]4+2*[135E & $7]13.9)
<2 R *2=199.6 ]
Y(BE)EERE(H )= (90-2* IR B4+2*[1355 E£4]13.9)
*2=219.6
#4 BE- Tk #4 & T 85 B 2= Int(((380-80)/2)/10.0)+1=16 67.1
<2 LT E= (199.6+219.6)16/100=67.1 M
#4 B-rh i #4th R IHE = Int(((380-80)/2)/15.0)+1=11 46.1
<7 oh SR i85 = (199.6+219.6)*11/100=46.1 M
#4 BE-BEE #AR T E 5 =(199.6+219.6)*Int(80/10)/100= 33.53 M 33.5
FEEHE

EBAEE(H1)16-#10 ($B2)X-#X
ABAEE:(H1)16-#10 (FA2)X-#X
B (1)4:10-10*16%

BhREHE:

F 1% hfr:(80+90)*2*380/10000=12.92 M2

HEEERAR MO

%:158:-(B18) 50*80/10000=0.40
%:25%:-(G22) 50*80/10000=0.40
LL_E/VET:0.80 M2

HEMRE R AR M 0 PR:

%:25%:30.00*16/10000=0.0480
%:35%:40.00*16/10000=0.0640
%:45%:80.00*16/10000=0.1280
LL_E/VET:0.2400 M2

RSB R AR MR O PR

B i1 (MR )-:CS=15%(380-16)/10000=0.55
B i 0 (KR [ )-:CS=15%(380-16)/10000=0.55
i 3 (FRE )-:B18=15%(380-80)/10000=0.45
LLE/NEH:1.54 M2
PR AR ET12.92-[#H#E 32 $£]0.80-[#E iR 32 $£]0.24-[#E #5 32 $]1.54=10.34 M2

RCEH&E:

80*90*380/1000000= 2.736 M3

ARt H AR
#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#10=60.800 M (60.800 M*6.390/1000= 0.3885 T)

$MER/NET =06511 T

BAR/NET(E) = 10.34 M2

B /G =2.736 M3

PNA21-01-#8: 1F , K58 C29, M EFk:

34 [X3:-242,Y10:+154] R~t: 80 cm * 90 cm , #&: 380.0 cm

#10 ER(E14-—ARE): (380+0)*16/100 60.80
| I+ (Lg) (1B
[#&$£=0])
#4 S\ A5 - £ T i h\E R EE ()= (80+90)*2-8*4+2*13.89=335.8 53.72
g T HEEIE= Int(((380-80)/2)/10.0)+1=16
I FHE# K= 335.816/100=53.72 M
#4 HME - R SRR B ()= (80+90)*2-8*4+2*13.89=335.8 36.94
g o SRR EE= Int(((380-80)/2)/15.0)+1=11
th R fERE K= 335.8*11/100=36.94 M
#4 SMER-BRE 5\ {5 R BE (7 72)= (80+90)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
BHERR-KFER,E | XOKF)AEEFIE)= (80-2 [{RERE]4+2*135E E]13.9)
</ [EAD! *2=199.6 .
Y(EE)EREE(HBE)= (90-2*[{R#[B14+2*[135E £ £]13.9)
*2=219.6
#4 BA5-E T % #4 T iREE= Int(((380-80)/2)/10.0)+1=16 67.1
</ ETiR#ER= (199.6+219.6)*16/100=67.1 M
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#4 BRH-h Rk #4oh RinEE= Int(((380-80)/2)/15.0)+1=11 46.1
P Rin#E K= (199.6+219.6)*11/100=46.1 M

BH-REE HARRZ R R=(199.6+219.6)*Int(80/10)/100= 33.53 M 335

#4

BESTE:
ERBAETE(HE1)16-# (‘fHZ)X #X
AREFEF:(E1)16-#10 (FH2)X-#X
B3R5 (1)%8:10-8% 6§

BhRET &

F 18 KR:(80+90)*2*380/10000=12.92 M2
PR E AR MO RR:
%:1i8:-(G29) 50*80/10000=0.40
%:2i%:-(B17) 50*80/10000=0.40
Ll _E/VEE:0.80 M2
FERRE AR M A0 B
%:3i8:40.00*16/10000=0.0640
%5:43%:30.00*16/10000=0.0480
Ll _E/hEH0.1120 M2
RS E AR M0 R
Ll _E/NEF:0.00 M2
ﬁm%rﬁé?m2.92-[*11%’3??&]o.so-ﬁzﬁﬁsﬂi]o.1 1-[4£#532$£]0.00=12.01 M2

RCEE:
80*90*380/1000000= 2.736 M3

-------------- ATEERNE

AR At B R
#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#10=60.800 M (60.800 M*6.390/1000= 0.3885 T)

MER/NEr =06511T

ERR/INETH(E) = 12.01 M2

Bst/hEt =2.736 M3

PNA21-01-#£f8: 1F , 2 HK5%: C26, LB 5R: 21 [X2:-222,Y10:+154] R~F: 80 cm * 90 cm, #&: 380.0 cm

#10 EH(E14-—ARE): (380+0)*18/100 68.40
| EH+EE(Lg)(1EE
[#&#£=0])
#4 sMER- £ T i SR EE (A )= (80+90)*2-8*4+2*13.89=335.8 53.72
g T HEEIE= Int(((380-80)/2)/10.0)+1=16
+ TiEfER= 335.816/100=53.72 M
#4 SMERR-h R SV R EE(H )= (80+90)*2-8*4+2*13.89=335.8 36.94
g rh J 45 B 4= Int(((380-80)/2)/15.0)+1=11
rhRfE#E K= 335.8*11/100=36.94 M
#4 HNER-RE SV R EE(H )= (80+90)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
BHERRE-KFER,E | XOKF)AEEFRIE)= (80-2 [{RERE]4+2*135E E£]13.9)
<2 EM *2=199.6 )
Y(EE)ERE(HTB)= (90-2*[{R#[B14+2*[135EE £ £4]13.9)
*2=219.6
#4 BA5-E T % #4_F T iHE 8= Int(((380-80)/2)/10.0)+1=16 67.1
</ ETin#ER= (199.6+219.6)*16/100=67.1 M
#4 BE-pRin #4rh R IHEBL= Int(((380-80)/2)/15.0)+1=11 46.1
<2 HhRiFHE R = (199.6+219.6)*11/100=46.1 M
#4 BH-RERE HAR B =48 K =(199.6+219.6)*Int(80/10)/100= 33.53 M 335
BERIE

EEAEH:ER1)18-#10 ($B2)X-#X
AR EH:(H1)18-#10 (FB2)X-#X
1BHEEREE(1)40:10-10718%

ERRETE:
F4KR:(80+90)*2*380/10000=12.92 M2
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BRI IO RR:
%:158:-(B17) 50*80/10000=0.40
%:2;:8:-(G26) 50*80/10000=0.40
%:358:-(B18) 50*80/10000=0.40
LLE/NEE:1.20 M2

FERRE IR IR IR
%:2i%:30.00%16/10000=0.0480
%:3i%:40.00%16/10000=0.0640
%:4i%:30.00%16/10000=0.0480
LL_E/VEH:0.1600 M2

NS B RE AR IO R

E RS 1 (FRE)-:B18=15%(380-80)/10000=0.45
E RS 2(FRE)-:B17=15%(380-80)/10000=0.45

LA _E/NET:0.90 M2

RARAEET:12.92-[A BR 32 1. 20-[#F kiR 32 $£]0.16-[#E 1% 32 $%£]0.90=10.66 M2

RC:tH&E:

80*90*380/1000000= 2.736 M3
-------------- R R 0] N —
Mt ERER

#4=264.2.17 M (264.217 M*0.994/1000= 0.2626 T)
#10=68.400 M (68.400 M*6.390/1000= 0.4371 T)

$AfR/NET = 0.6997 T
BAR/NEH(E) = 10.66 M2
RNt = 2.736 M3

PNA21-01-#2&: 1F , #X5%: C23, fiIi&

FEafk: 11 [X1:-102,Y12:-16] R~F: 80 cm * 90 cm , 45 380.0 cm

#10 ERF(E14-—HRE): (380+0)*16/100 60.80
| T+ (Lg) (1B
[#&#=0])
#4 S\ RS- £ T i SR ()= (80+90)*2-8*4+2*13.89=335.8 53.72
@ L+ THE %= Int(((380-80)/2)/10.0)+1=16
T K= 335.8%16/100=53.72 M
#4 HME - R SR E(HH2)= (80+90)*2-8*4+2*13.89=335.8 36.94
@ R EEE8= Int(((380-80)/2)/15.0)+1=11
R iERE R = 335.8*11/100=36.94 M
#4 SMER-RE 5\ R E(FHH2)= (80+90)*2-8*4+2*13.89=335.8 26.86
@ (Int(80/10))*335.8/100=26.86 M
BHEBERER-KFER,E | XOKE)EEEGRIE)= (80-2*[{RERB]14+2*[135E &$7]13.9)
<2 B[ *2=199.6 .
Y(EE)EKE (4= (90-2* (R #B14+2*[135EE E£4$5]13.9)
*2=219.6
#4 B55- T iE #4_F TR 8= Int(((380-80)/2)/10.0)+1=16 67.1
</ Lt TFig#E K= (199.6+219.6)*16/100=67.1 M
#4 BE-P g #4rh R IR B EL= Int(((380-80)/2)/15.0)+1=11 46.1
<7 PR R = (199.6+219.6)*11/100=46.1 M
#4 B5-BRERE HARZ [ERE R =(199.6+219.6)*Int(80/10)/100= 33.53 M 335
BERTE:

ERBETH:HR1)16-#10 (FH2)X-#X

ABEER:(FE1)16-#10 ($H2)X-#X

RS (1)48:10-10"16%

AR &

F 4 hk:(80+90)*2*380/10000=12.92 M2

FEARE AR MO RR:
%:15%:-(G22) 50*80/10000=0.40
%5:2i%:-(B20) 50*80/10000=0.40
%5:3i%:-(G23) 50*80/10000=0.40
L E/NET:1.20 M2

FERRE AR M 0 B
%:1i8:40.00*16/10000=0.0640
:2%:30.00*16/10000=0.0480
%:3i8:40.00*16/10000=0.0640
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%:43%:80.00*16/10000=0.1280
WA E/NVEH0.3040 M2

A E AR R RR:
A 1 (AR )-
A 2 (hRE )-

:CS=15*(380-16)/10000=0.55
:CS=15*(380-16)/10000=0.55
E RIS 3(ARJE)--S1=15%(380-16)/10000=0.55
E RIS 4(FRE)--B20=15*(380-80)/10000=0.45
LLE/INE:2.09 M2
$§H&+{h§:§+:12.92-[m%€§#§]1 .20-[#E MR 32 $%]0.30-[#: 1% 32 $£]2.09=9.33 M2
RCEH&E:
80*90*380/1000000= 2.736 M3
-------------- STEAER DA
et AR
#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#10=60.800 M (60.800 M*6.390/1000= 0.3885 T)
SHfR/NET = 06511 T
/NG (E) = 9.33 M2
EEEL/NET =2.736 M3

PNA21-01-#£f&: 1F , #£L5%: C30, fIE F 5% 35 [X3:-242,Y12:-16] R~T: 80 cm * 90 cm , #&: 380.0 cm

#8 ERF(E14-—HRE): (380+0)*22/100 83.60
| T+ (Lg) (1B
[#&#=0])
#4 SN RS- £ T i SR EE ()= (80+90)*2-8*4+2*13.89=335.8 53.72
@ L+ THE %= Int(((380-80)/2)/10.0)+1=16
T K= 335.8%16/100=53.72 M
#4 SMERR-h R S\ B (5 12)= (80+90)*2-8*4+2*13.89=335.8 36.94
@ R R EE 2= Int(((380-80)/2)/15.0)+1=11
R fERE R = 335.8*11/100=36.94 M
#4 SMER-RE S\ R E(HF2)= (80+90)*2-8*4+2*13.89=335.8 26.86
@ (Int(80/10))*335.8/100=26.86 M
BHEBERER-KFER,E | XOKE)EEEGRIE)= (80-2*[{REB]14+2*[135E &4$7]13.9)
</ A *2=199.6 .
Y(EHE)EKE (4= (90-2 (R #B14+2* 135 E£4$5]13.9)
*2=219.6
#4 855 T i% #4_F TR 2= Int(((380-80)/2)/10.0)+1=16 67.1
</ Lt TFig#E K= (199.6+219.6)*16/100=67.1 M
#4 BE-PRim #4rh R IR B EL= Int(((380-80)/2)/15.0)+1=11 46.1
<7 PR iR = (199.6+219.6)*11/100=46.1 M
#4 B5-BRERE HARZ [ERE R =(199.6+219.6)*Int(80/10)/100= 33.53 M 335
BESTE:

R :(R1)22-#8 (FH2)X-#X
AR :(FR1)22-#8 (FH2)X-#X
TEHERRE(1)40:8-8"22%
BhRETE:
F 4 hk:(80+90)*2*380/10000=12.92 M2
FEARE AR MO RR:
%:15%:-(G29) 50*80/10000=0.40
%5:2i%:-(G30) 50*80/10000=0.40
%5:3i%:-(B19) 50*80/10000=0.40
L E/EH:1.20 M2
FERRE AR M A0 BR:
%:1i8:40.00*16/10000=0.0640
%:3i8:40.00*16/10000=0.0640
%:4%:30.00*16/10000=0.0480
LLE/VEH:0.1760 M2
AR E AR M0 B
LL_E/VEH:0.00 M2
Eﬁl%r%%nz.gz-[#ﬂ%mﬁh.20-[&#&3*&?&]0.18-[#2%1"’-‘*?%]0 .00=11.54 M2
RCEE:
80%90*380/1000000= 2.736 M3
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-------------- EI T 1 Y]] S—
Mt EHER:
#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#8=83.600 M (83.600 M*3.980/1000= 0.3327 T)
$ARR/INET =0.5954 T
BAR/NVET(E) = 11.54 M2
SRR /NET = 2.736 M3

PNA21-01-#/8: 1F , #4X58: C27, B FaE: 22 [X2:-222,Y12:-16] R~t: 80 cm * 90 cm , & 380.0 cm

#10 ER(E1HR-—ABE): (380+0)*20/100 76.00
| A (Lo (B
[#B#£=0])
#4 SNERS- £ T SNEEE(HT)= (80+90)*2-8*4+2%13.89=335.8 53.72
g T EE = Int(((380-80)/2)/10.0)+1=16
T E= 335.8%16/100=53.72 M
#4 S5 fR-h R SR E(H )= (80+90)*2-8*4+2%13.89=335.8 36.94
g rh S B 2= Int(((380-80)/2)/15.0)+1=11
R £ = 335.811/100=36.94 M
#4 S f5- R SR E(H )= (80+90)*2-8*4+2%13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
EMERER-KFR,E | XOKE)MEEGRIE)= (80-2*[{RERB]4+2*[135EF &$7]13.9)
<2 B *2=199.6 .
Y(EE)RRE ()= (90-2*[{REE14+2*[135E & §7]13.9)
*2=219.6
#4 B F T #4 - T4 E 3= Int(((380-80)/2)/10.0)+1=16 67.1
</ L TR E= (199.6+219.6)*16/100=67.1 M
#4 B -rh i #4th SR E Bh= Int(((380-80)/2)/15.0)+1=11 46.1
<7 thdif e = (199.6+219.6)*11/100=46.1 M
#4 BE-BREE HARR B [E 8 E=(199.6+219.6)*Int(80/10)/100= 33.53 M 335
EEBRHE

TRERE M (1R1)20-#10 ($12)X-#X

B E B (11)20-#10 (HA2)X-HX

1BIEEREE(1)58:10-10"20%

ERETE:

F 12 hR:(80+90)*2*380/10000=12.92 M2

FERE AR RO RR:
%:152:-(G26) 50*80/10000=0.40
%:2i%:-(B19) 50*80/10000=0.40
%:3i%:-(G27) 50*80/10000=0.40
%:4;%:-(B20) 50*80/10000=0.40
LLE/NET:1.60 M2

FERRE AR R A0 B
%:178:40.00*16/10000=0.0640
£:2%:30.00*16/10000=0.0480
%:3i8:40.00*16/10000=0.0640
:45%:30.00*16/10000=0.0480
LLE/NET:0.2240 M2

AN E AR R A0 B
BN 1 (B E)-:B20=15*(380-80)/10000=0.45
B 2(BE)-:B19=15*(380-80)/10000=0.45

Ll /NEF0.90 M2
$§Hﬁ$§§+:12.92-[m%§¢§]1 .60-[#E iR 3 $£]0.22-[4E 15 35 $£]0.90=10.20 M2
RCETE:

80*90*380/1000000= 2.736 M3
-------------- ELR- K o Y J—
Mt ERER:

#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#10=76.000 M (76.000 M*6.390/1000= 0.4856 T)
SMAR/NET = 0.7483 T
BAR/INET(E) = 10.20 M2
R /NET = 2.736 M3
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PNA21-01-4&8: 1F , 4HX88: C23, (B FFEE: 12 [X1:-102,Y14:-186] R~t: 80 cm * 90 cm , 45 380.0 cm

#10 TH(EHE-—AEE): (380+0)*16/100 60.80
| g (Lo
[##=0])
#4 SNERS- £ T SNEEE(HT)= (80+90)*2-8*4+2%13.89=335.8 53.72
g T EBE = Int(((380-80)/2)/10.0)+1=16
L+ T E= 335.8%16/100=53.72 M
#4 S5 fR-h R SR E(H )= (80+90)*2-8*4+2%13.89=335.8 36.94
g rh S B 2= Int(((380-80)/2)/15.0)+1=11
R £ = 335.8°11/100=36.94 M
#4 S5 f5- R SR E(H )= (80+90)*2-8*4+2%13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
EHMEBERR-KFR,E | XOKFE)MEEGRIE)= (80-2*[{RERB]4+2*[135EF &$7]13.9)
<7 B *2=199.6 .
Y(BE)AEE(H )= (90-2* (R E4+2*[135E &45]13.9)
*2=219.6
#4 8- T i #4 - T4 EBh= Int(((380-80)/2)/10.0)+1=16 67.1
</ LR E= (199.6+219.6)*16/100=67.1 M
#4 B f5-rh i #4th L HH E 8= Int(((380-80)/2)/15.0)+1=11 46.1
<7 thdif e = (199.6+219.6)*11/100=46.1 M
#4 Bi-BREE HARR B [E 8 E=(199.6+219.6)*Int(80/10)/100= 33.53 M 335
EEBRHL

EBAEE(H1)16-#10 ($B2)X-#X
ABHEH:(41)16-#10 (4B2)X-#X
IR (1)%8:10-10"16%

EhRETE:

F12Hk:(80+90)*2*380/10000=12.92 M2

HRGE AR AR O RR:

%:158:-(G23) 50*80/10000=0.40
%:25%:-(B20) 50*80/10000=0.40
%:35%:-(G23) 50*80/10000=0.40
LLE/NVE:1.20 M2

FERE BEAR AR O BR:

%:15%:40.00*16/10000=0.0640
%:25%:30.00*16/10000=0.0480
%:35%:40.00*16/10000=0.0640
%:45%:80.00*16/10000=0.1280
LL_E/VET:0.3040 M2

FEHE AR RO PR
BN (R
BN 2(ME
RS 3(hRE
B ARE

~— ~— ~— ~—

LL_E/NET:2.09 M2
AR AEET:12.92-[FE R 3 $8]1.20-[#F iR 32 $]0. 30-[#1 #5 32 $%]2.09=9.33 M2

RCEHE:

80*90*380/1000000= 2.736 M3

Mt HAER:

-:CS=15%(380-16)/10000=0.55
-:CS=15%(380-16)/10000=0.55
-:51=15%(380-16)/10000=0.55
-:B20=15%(380-80)/10000=0.45

#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#10=60.800 M (60.800 M*6.390/1000= 0.3885 T)

$MER/NET =0.6511 T

BRR/NVET(E) = 9.33 M2
R /NGt = 2.736 M3

PNA21-01-#£f8: 1F , #4558 C24, IER5%: 13 [X1:-102,Y15:+144] R~F: 80 cm * 90 cm , #7&: 380.0 cm
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#10 ERF(FE14-—HRE): (380+0)*16/100 60.80
| T H+EE(Lg)(HEHE
[F&#=0])
#4 SMER-L T i SR E(H )= (80+90)*2-8*4+2*13.89=335.8 53.72
g T = Int(((380-80)/2)/10.0)+1=16
T K= 335.8%16/100=53.72 M
#4 SME - R SR E(H )= (80+90)*2-8*4+2*13.89=335.8 36.94
g rh J 4 28= Int(((380-80)/2)/15.0)+1=11
R iERE R = 335.811/100=36.94 M
#4 SN RR-R S\ B (H2)= (80+90)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
BHEFER-KTERE | XOKFE)AEE(HRE)= (80-2*[{RERB]4+2*[135EF E$7]13.9)
</ EM[ *2=199.6 ]
Y(EE)ERE(FBE)= (90-2* [{R#[B14+2*[135EE £ £7]13.9)
*2=219.6
#4 Bip-LTim #4 £ T ixE 2= Int(((380-80)/2)/10.0)+1=16 67.1
</ E T R= (199.6+219.6)*16/100=67.1 M
#4 BE-hRim #4rh IR B EL= Int(((380-80)/2)/15.0)+1=11 46.1
</ R iR = (199.6+219.6)*11/100=46.1 M
#4 BH-BEE HARZ [ERE R =(199.6+219.6)*Int(80/10)/100= 33.53 M 33.5

RSt R:

EEERH:(HR1)16-#8 (FH2)X-#X
ABEEF:(FE1)16-#10 ($H2)X-#X
IR (1)1:10-8"163

BhRETE:

F 1% hr:(80+90)*2*380/10000=12.92 M2

HEEEAR MO

2:158:-(G23) 50*80/10000=0.40
25:25%:-(B20) 50*80/10000=0.40
%:358:-(G24) 50*80/10000=0.40
LLE/VET:1.20 M2

MR AR MR O PR

%:158:40.00*16/10000=0.0640
%5:25%:30.00*16/10000=0.0480
%5:35%:40.00*16/10000=0.0640
%5:45%:80.00*16/10000=0.1280
LL_E/VET:0.3040 M2

RS E AR RO PR:

1 (MR )--CS=15*(380-16)/10000=0.55
2 (E BorEZ):=15%(380-0)/10000=0.57
I3 (KK )-:B20=15*(380-80)/10000=0.45
I A(BRE )--S1=15%(380-16)/10000=0.55
I 5(FRE )--G24=15*(380-80)/10000=0.45
Ll E/NEH2.56 M2
R AEET:12.92-[FE R 3 $£]1.20-[4E hiR 3 $£10.30-[4E 15 32 $%]2.56=8.85 M2

RC:tH&E:

80*90*380/1000000= 2.736 M3

M EER:

#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#10=60.800 M (60.800 M*6.390/1000= 0.3885 T)

$ARR/NET =06511 T
HBAR/NVET(E) = 8.85 M2
SRR NET = 2.736 M3

PNA21-01-#£f&: 1F , #£4K5%: C30, S 3% 36 [X3:-242,Y14:-186] R~F: 80 cm * 90 cm , #75: 380.0 cm

#8

EH(E1HE-—RE):
EF+HE (L) (R
[F&#%=0])

(380+0)*22/100

83.60
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SME - £ T i SV R E (B R2)= (80+90)*2-8*4+2*13.89=335.8 53.72
L+ THEE24= Int(((380-80)/2)/10.0)+1=16
L+ TFiE#ER= 335.8%16/100=53.72 M

#4

S48 55 o YL R FE (5 7)= (80+90)*2-8*4+2+13.89=335.8 36.94
o R B B= Int(((380-80)/2)/15.0)+1=11
R4 R = 335.811/100=36.94 M

#4

(Int(80/10))*335.8/100=26.86 M

i%ﬁéiﬁﬁ-zka‘uﬂ,ﬁ XOKFE)ERE(HHAE)= (80-2*[{R#EB]4+2*[135E & $7]13.9)
BE *2=199.6
Y(EE)AREHRE)= (90-2[REE14+2*[135EE$7]13.9)
*2=219.6

BT #4 T i%E %= Int(((380-80)/2)/10.0)+1=16 67.1
LTk = (199.6+219.6)16/100=67.1 M

#4

8-l #4rh R B EE= Int(((380-80)/2)/15.0)+1=11 46.1
th R ifkiE R = (199.6+219.6)*11/100=46.1 M

#4

BE-BEE HAREEE=(199.6+219.6)*Int(80/10)/100= 33.53 M 33.5

#4 g o\ A -BR SMERE(H )= (80+90)*2-8*4+2*13.89=335.8 26.86
#4

EESIE
R EA:(MR1)22-#8 (FH2)X#X
AREFEEF:(FE1)22-#8 ($H2)X-#X
BIERE(1)1H:8-822%
BhRET &
F48HR:(80+90)*2*380/10000=12.92 M2
PR E AR MO RR:
25:138:-(G30) 50*80/10000=0.40
25:2i8:-(G30) 50*80/10000=0.40
25:3i8:-(B19) 50*80/10000=0.40
LL_E/NET1.20 M2

FE MBI AR IR OB
25:1i8:40.00*16/10000=0.0640
25:3i8:40.00*16/10000=0.0640
25:43%:30.00*16/10000=0.0480
LL_E/NET:0.1760 M2

AR E AR R O PR
Ll _E/NE:0.00 M2

ﬁm%rﬁgﬁn 2.92-[#F R $#]1.20-[#E iR 33 $£]0.18-[#F 5 32 $£]0.00=11.54 M2

RCEHE:
80*90*380/1000000= 2.736 M3

At EHER:
#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#8=83.600 M (83.600 M*3.980/1000= 0.3327 T)
$MER/INET =0.5954 T
BAR/NVET(E) = 11.54 M2
R /NET = 2.736 M3

PNA21-01-#£f8: 1F , #4558 C27, LB F5k: 23 [X2:-222,Y14:-186] R~t: 80 cm * 90 cm , #&: 380.0 cm

#10 FER(E1HE-—RERB): (380+0)*20/100 76.00
| E+ERE(Lg) (1B
[#&#£=0])
#4 SMERR-L T i MERE(H )= (80+90)*2-8*4+2*13.89=335.8 53.72
g + THERE2= Int(((380-80)/2)/10.0)+1=16
+ T K= 335.816/100=53.72 M
#4 SME - R HMERE(H )= (80+90)*2-8*4+2*13.89=335.8 36.94
g th LG 28= Int(((380-80)/2)/15.0)+1=11
th R fEHE K= 335.8*11/100=36.94 M
#4 ST - SMERE(HT)= (80+90)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
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EmEBERR-KER,E XOKFE) R E(HHAE)= (80-2*[{R#EB]4+2*[135E & $7]13.9)
<2 R *2=199.6 ]
Y(BE)EERE(H )= (90-2* IR B4+2*[1355 E£4]13.9)
*2=219.6
#4 BE- Tk #4 & T 85 B 2= Int(((380-80)/2)/10.0)+1=16 67.1
<2 LT E= (199.6+219.6)16/100=67.1 M
#4 B-rh i #4th R IHE = Int(((380-80)/2)/15.0)+1=11 46.1
<7 oh SR i85 = (199.6+219.6)*11/100=46.1 M
#4 BE-BEE #AR T E 5 =(199.6+219.6)*Int(80/10)/100= 33.53 M 33.5
EERHE

EBAEET(481)20-#10 ($B2)X-#X

ABAEE:(181)20-#10 ($A2)X-#X

B (1)4:10-10*20%

BhRET &

F48HR:(80+90)*2*380/10000=12.92 M2

PR E AR MO RR:
%5:138:-(G27) 50*80/10000=0.40
25:2i8:-(B19) 50*80/10000=0.40
25:338:-(G27) 50*80/10000=0.40
25:438:-(B20) 50*80/10000=0.40
L E/NEF1.60 M2

FERRE BEAR MR A0 B
25:138:40.00*16/10000=0.0640
25:2i8:30.00*16/10000=0.0480
25:3i8:40.00*16/10000=0.0640
25:43%:30.00*16/10000=0.0480
L E/NEF0.2240 M2

RS E AR M A0 R
IS 1(FRE)-:B20=15%(380-80)/10000=0.45
B 2(FRE)-:B19=15%(380-80)/10000=0.45

Ll /NEF0.90 M2
ﬁ@gﬁmea&@&gnmHHM§%wzHE%§%m%ﬂomM2
RCETE:

80*90*380/1000000= 2.736 M3
-------------- ELR- K 1 1Y J—
Mt ERR:

#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#10=76.000 M (76.000 M*6.390/1000= 0.4856 T)
$MAR/INET = 0.7483 T
BAR/INET(E) = 10.20 M2
iR /NE =2.736 M3

PNA21-01-#£f8: 1F , #EK58%: C28, IEFF5k: 24 [X2:-222,Y15:+144] R~F: 80 cm * 90 cm, #&: 380.0 cm

#8 ER(E14E-—ARE): (380+0)*20/100 76.00
| EH+EE(Lg)(1EE
[#E#=0))
#4 sMER- £ T i 5V R EE ()= (80+90)*2-8*4+2*13.89=335.8 53.72
@ TR S= Int(((380-80)/2)/10.0)+1=16
T K= 335.8*16/100=53.72 M
#4 VAS il RaE S 5\ iE R EE ()= (80+90)*2-8*4+2*13.89=335.8 36.94
@ rh S5 B 28= Int(((380-80)/2)/15.0)+1=11
th e R = 335.8*11/100=36.94 M
#4 HNER-RE 55 R EE ()= (80+90)*2-8*4+2*13.89=335.8 26.86
@ (Int(80/10))*335.8/100=26.86 M
BHEHR-KFERE | XOKTF)RREGGRHE)= (80-2'[REE]4+2*[135E &$7]13.9)
<7 A *2=199.6 ]
Y(EE)ERE(H 4= (90-2*[{FEB14+2*[135F € 45]13.9)
*2=219.6
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#4 B5- £ Tin #4_F T iRE 2= Int(((380-80)/2)/10.0)+1=16 67.1
</ F iR R= (199.6+219.6)*16/100=67.1 M
#4 B -t Lin #4rh RIHEIBE= Int(((380-80)/2)/15.0)+1=11 46.1
<7 th QR ifkiE R = (199.6+219.6)*11/100=46.1 M
#4 BH-BERE HAR R EHE R =(199.6+219.6)*Int(80/10)/100= 33.53 M 335
fEEsTE:
R EA:(MR1)18-#8 (FH2)X#X
AR EH5:(#01)20-#8 (FH2)X-#X
BB 5E(1)48:8-8*18%
EiERE(2)M8-T2X
EhRETE:

F 1 hR:(80+90)*2*380/10000=12.92 M2

FERGE AR RO FR:

:152:-(G27) 50*80/10000=0.40
55:2i%:-(B17) 50*80/10000=0.40
%5:3i2:-(G40) 50*80/10000=0.40
%5:4;2:-(B20) 50*80/10000=0.40
KL E/NET:1.60 M2

FERRE BEAR RO BR:

%5:1i£:40.00*16/10000=0.0640
£:2i%:30.00*16/10000=0.0480
%£:3i£:40.00*16/10000=0.0640
%5:4i£:30.00*16/10000=0.0480
Ll E/ET:0.2240 M2

FEEE AR RO PR
EIENE (RE)-
EIERE2(RE)-

RCEH&E:

:B20=15%(380-80)/10000=0.45

:B17=15%(380-80)/10000=0.45
EIENE 3(HE)-:G40=15*(380-80)/10000=0.45
BN 4(F HorEZ2):=12%(35-0)/10000=0.04
EIENE 5(F HorE Z2):=10%(20-0)/10000=0.02
KL E/NEE:1.41 M2

AR AEET:12.92-[#F R 3 #E]1.60-[#EhR 32 $5]0.22-[4 15 3 $£]1.41=9.68 M2

80*90*380/1000000= 2.736 M3

AT EER:

#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#8=76.000 M (76.000 M*3.980/1000= 0.3025 T)

SHEH/NET = 0.5651 T
HRR/NET(E) = 9.68 M2
B /NE =2.736 M3

PNA21-01-#&/8: 1F , #4t5%: C13, RERF%:

48 [X5:+154,Y6:-22] R~:90 cm * 80 cm , #£=: 380.0 cm

#8 TH(E1HE-LEE (380+0.00)*16/100 60.80
[_ ¥E)- 2 3+ Q0RE 3 S8t
E(HBHE[EE=0)
#4 sMERR- £ T i 5V R EE ()= (90+80)*2-8*4+2*13.89=335.8 53.72
@ L+ THEEIE= Int(((380-80)/2)/10.0)+1=16
+F#E#E K= 335.8%16/100=53.72 M
#4 VAS il RaE S 5V iE R EE ()= (90+80)*2-8*4+2*13.89=335.8 36.94
@ rh S5 B B8= Int(((380-80)/2)/15.0)+1=11
th e R = 335.8*11/100=36.94 M
#4 HMER-RE 5V R EE ()= (90+80)*2-8*4+2*13.89=335.8 26.86
@ (Int(80/10))*335.8/100=26.86 M
BHEHR-KFERE | XOKTF)RREGRHE)= (90-2*[REE]4+2*[135E E$7]13.9)
< A *2=219.6 ]
Y(EE)ERE(HH4TE)= (80-2*[{FHEB14+2* 135 €£40]13.9)
*2=199.6
#4 BE5-E TG #4_F T B 8= Int(((380-80)/2)/10.0)+1=16 67.1
< L TimfER= (219.6+199.6)*16/100=67.1 M
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#4 BRH-h Rk #4oh RinEE= Int(((380-80)/2)/15.0)+1=11 46.1
< / PRin#E K= (219.6+199.6)*11/100=46.1 M
#4 BH-REE HARRZ R R=(219.6+199.6)*Int(80/10)/100= 33.53 M 33.5
faEsRa®E:

EBHEHHR)XAX (H2)X-#X
AREHFER:(HE1)16-#8 (FH2)X-#X
RS (1)MH:8-TH 16X
BhRET &
F48HR:(90+80)*2*380/10000=12.92 M2
PR E AR MO RR:
2:138:-(G12) 50*80/10000=0.40
25:2i8:-(B9) 50*80/10000=0.40
Ll _E/NEE:0.80 M2
FERRE AR M A0 B
25:2i8:42.50*16/10000=0.0680
25:3i8:30.00*16/10000=0.0480
LU E/NEFH0.1160 M2
RS E AR MO R
IR (B orEZ):=15%(10-0)/10000=0.02
B 2(FRE )-:B9=15%(380-80)/10000=0.45
Ll E/NEF0.47 M2
ﬁm%rﬁé?m 2.92-[#F 33 $%10.80-[#E iR 33 ]0.12-[#F 5 32 $£]0.47=11.54 M2
RCEtH&E:
90*80*380/1000000= 2.736 M3

At EER:
#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
$MER/INET =0.5046 T
BAR/NVET(E) = 11.54 M2
iR /NE =2.736 M3

PNA21-01-#8&: 1F , #£08%: C2, SIEFF5%: 3 [X1:+118,Y6:+169] R~: 80 cm * 90 cm , & 380.0 cm

#10 T Hh(E1HR-—REB): (380+0)*18/100 68.40
| T+ (L) (%
[#E#=0))
#4 SMER- £ T i SV R EE(H )= (80+90)*2-8*4+2*13.89=335.8 53.72
g T E= Int(((380-80)/2)/10.0)+1=16
+ TiE#ER= 335.816/100=53.72 M
#4 SME - R SV R EE (B )= (80+90)*2-8*4+2*13.89=335.8 36.94
g rh J 5 B 4= Int(((380-80)/2)/15.0)+1=11
rhRfE#E K= 335.8*11/100=36.94 M
#4 SMER-BRH SR EE (B )= (80+90)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
BHEHR-KERE | XOKP)REEFA )= (80-2*[{RERE]4+2*[135E E4$7]13.9)
<2 EM *2=199.6 )
Y(EE)EREE(HBE)= (90-2*[{R#[B14+2*[135EE & £]13.9)
*2=219.6
#4 B5- LT #4_F TR 8= Int(((380-80)/2)/10.0)+1=16 67.1
</ ETin#ER= (199.6+219.6)*16/100=67.1 M
#4 M- R IR #4th i Bh= Int(((380-80)/2)/15.0)+1=11 46.1
<7 h R iGEHER = (199.6+219.6)*11/100=46.1 M
#4 BhHh-BERE HARF [EHE R =(199.6+219.6)*Int(80/10)/100= 33.53 M 33.5
BERTE

EREHEETHEE1)18-#10 (#H2)X-#X
ABHITH:(HE1)18-#10 ($H2)X-#X
{BiEAREE(1)48:10-10*18%
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EhRETE:
FHEHR:(80+90)*2*380/10000=12.92 M2
BRI IR

%:1;8:-(G2) 50*80/10000=0.40
%:2;8:-(B6) 50*80/10000=0.40
%:358:-(G3) 50*75/10000=0.38
LLE/NEE:1.18 M2
FERRE IR IR IR

%:13%:40.00%16/10000=0.0640
%:2i%:30.00%16/10000=0.0480
%:3i%:40.00%16/10000=0.0640
%:4i%:80.00%16/10000=0.1280
LL_E/VEH:0.3040 M2

SRR
E 1 (MRUE)-:CS=15%(380-16)/10000=0.55
E S 2(MRUE)-:CS=15%(380-16)/10000=0.55
E R 3(FRE )-:B6=15%(380-80)/10000=0.45
E RS 4(FRE)-:G2=15%(380-80)/10000=0.45
E RS 5(FRE)-:G3=15%(380-75)/10000=0.46

LLE/NEH:2.45 M2

FERRAEET:12.92-[FE R 3T #5]1.18-[#F iR 32 $]0. 30-[#1 18 32 $%]2.45=8.99 M2

RC:tH&E:
80*90*380/1000000= 2.736 M3

et HAER:

#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#10=68.400 M (68.400 M*6.390/1000= 0.4371 T)

$ArR/NET =0.6997 T
EAR/NVEH(E) = 8.99 M2
RN = 2.736 M3

PNA21-01-#£f&: 1F , B (EE)HKE: C10, fEFa%: 29 [X3:-157,Y8:-121] EFE: 90 cm , #&: 380.0 cm

#10 FH(E1HA-—ARRE): (380+0)*16/100 60.80
| g5 (Lo (B
[#&#%=0])
#4 SVMERR- £ T 5\ R E (B2 )= (90-4*2)*3.1416+2*48%1.27=379.5 60.72
@ T E= Int(((380-80)/2)/10.0)+1=16
T K= 379.516/100=60.72 M
#4 SN - R S5 R (Bf2)= (90-4*2)*3.1416+2*48%1.27=379.5 41.75
@ rh J 4B 2k= Int(((380-80)/2)/15.0)+1=11
rh e K= 379.5%11/100=41.75 M
#4 SMER-RE 5\ R E (B2 )= (90-4*2)*3.1416+2*48%1.27=379.5 30.36
@ (Int(80/10))*379.5/100=30.36 M
EHmEBEHR-RCH(E) XK T ) A& B (Bfis )= (90-2*4+2[##]*1.27*[1524]6)*2=194.5
<7 Y(EE)EREE(BERAE)= (90-2*4+2[H]*1.27 15 2:]6)*2=194.5
#4 B55- £ T #4 T iR EBE= Int(((380-80)/2)/10.0)+1=16 62.2
< E i R= (194.5+194.5)*16/100=62.2 M
#4 BE-PRim #4rh R IR B EL= Int(((380-80)/2)/15.0)+1=11 42.8
<7 th JifkiE R = (194.5+194.5)*11/100=42.8 M
#4 Bn-RERE #ABRF EHE K =(194.5+194.5)*Int(80/10)/100= 31.12 M 31.1
EESRTE:

ERBAEEH:HE1)16-#10 ($82)X-#X

ABEEF:(FE1)16-#10 ($82)X-#X

RS (1)48:10-10"16%
ARG &

F =R (EE4E):(90*3.1416)*380/10000=10.74 M2

HEEER MO
%:158:-(G9) 50*80/10000=0.40
%:258:-(G16) 50*80/10000=0.40
%:358:-(G10) 50*60/10000=0.30
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%:458:-(B7) 50*70/10000=0.35
LLE/NEE:1.45 M2
#i#ﬁé?%*ﬁ#ﬁ?ﬂﬂ%
;ﬁ 13%:40.00*16/10000=0.0640
%5:25%:40.00*16/10000=0.0640
%:3i%:40.00%16/10000=0.0640
%:4i%:40.00%16/10000=0.0640
LL_E/NEH:0.2560 M2
NS B AR IR
LL_E/NEF:0.00 M2
$§HJ:2+%§:“+ 10.74-AER R .45-[#F iR 32 $5]0.26- (41 15 32 $£]0.00=9.04 M2
RCE
Bz 4E: (90/2)72*3.1416*380/1000000= 2.417 M3
-------------- R E - 20 N —
st EHR:
#4=268.972 M (268.972 M*0.994/1000= 0.2674 T)
#10=60.800 M (60.800 M*6.390/1000= 0.3885 T)
$ARR/INET = 0.6559 T
BAR/NVEH(E) = 9.04 M2
BTN =2.417 M3

PNA21-01-#88: 1F , #5485 C37, RLEFE5%: 5 [X1:475,Y17:+39] R~H (B H4}): :AK411 cm ERE#E: 9990 cm2 ,
#5:380.0 cm
AR ~:100.0 cm * 100.0 cm

#10 EEH(E1HE-—HBE): (380+0)*20/100 76.00
| 5+ (Lo (12
[#&#=0])
#4 SVMEE- L T i SNERE(HT)= (99.95077+99.95077)*2-8*4+2*13.89=395.6 | 63.29
[; T HEBIE= Int(((380-80)/2)/10.0)+1=16
+ FHEEE= 395.6*16/100=63.29 M
#4 SMERR- R HMEREE (B )= (99.95077+99.95077)*2-8*4+2*13.89=395.6 | 63.29
[; o SRR EE= Int(((380-80)/2)/10.0)+1=16
R fEfE R = 395.616/100=63.29 M
#4 SV ERR- R SERE(HT)= (99.95077+99.95077)*2-8*4+2*13.89=395.6 | 31.65
[; (Int(80/10))*395.6/100=31.65 M
BHBHR-KTERE | XOKF)QRE(FRAL)= (99.95077-2*[{R#B]4+2*[135F &
<7 (1G] $4]13.9)*4=478.9
Y(EHE)ERE(HH4E)= (99.95077-2 (1R & E]4+2*[135E &
$4]13.9)*2=239.5
#4 Bi5-ETig #4 - T iR B E= Int(((380-80)/2)/10.0)+1=16 114.9
</ E Tk K= (478.9+239.5)*16/100=114.9 M
#4 Bip-thRih #4rh IR 8= Int(((380-80)/2)/10.0)+1=16 114.9
<7 th iR = (478.9+239.5)*16/100=114.9 M
#4 BE-REE HAR B =48 K =(478.9+239.5)*Int(80/10)/100= 57.47 M 57.5
BERTE:

EEREE:(A1)20-#10 (#B2)X-#X

REHER:(H1)20-410 ($82)X-#X

{EiEAREE(1)40:10-10*20%

AR E:

TR (B RiER]411.3*380/10000=15.63 M2

R B AR IR
%:13%:-(B21) 55*80/10000=0.44
LLE/NET:0.44 M2

FE RSB IR IR IR
%:152:132.00*16/10000=0.2112
%5:25%:40.00*16/10000=0.0640
%5:352:90.00*16/10000=0.1440
LLE/INET:0.4192 M2

SRR R
E 1 (MR E)-:S0=10%(60-16)/10000=0.04
TE 2 (R B )-:S0=20%(380-16)/10000=0.73
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E R :3(MRE)-:S0=20%(380-16)/10000=0.73
E RS :4(MRE)-:S0=20%(380-16)/10000=0.73
LLE/NET:2.23 M2
$§Hlx‘z+fﬁ§:§+:15.63-[&1%2&#&]0.44-[*1#& R $£]0.42-[#E 153 $%£]2.23=12.54 M2
RCEtE&:
[ B FR 4% & F#5]9990.2*380/1000000=3.796 M3
-------------- SHEAER -
T EER:
#4=445.590 M (445.590 M*0.994/1000= 0.4429 T)
#10=76.000 M (76.000 M*6.390/1000= 0.4856 T)
$HAR/INET =0.9286 T
RN (E) = 12.54 M2
BB /NG =3.796 M3

PNA21-01-t&/8: 1F , #4X5%: C38, IERF3E: 67 [X12:+114,Y6:+63] R~ (B H4): #B&E374 cm EimiE: 8365
cm2 , #5:380.0 cm
BE AR R~:91.5¢cm *91.5cm

#10 EEH(E1HE-—HBE): (380+0)*22/100 83.60
| 5+ (Lo (12
[#&$£=0])
#4 SVMEE- L T i HMEREE(H )= (91.46037+91.46037)*2-8*4+2*13.89=361.6 | 57.86
[; T HEBIE= Int(((380-80)/2)/10.0)+1=16
+THEEE= 361.6"16/100=57.86 M
#4 SMERR-h R HMEREE(H )= (91.46037+91.46037)*2-8*4+2*13.89=361.6 | 39.78
[; o SRR E8= Int(((380-80)/2)/15.0)+1=11
th R fEfE K= 361.6*11/100=39.78 M
#4 S\ R RR- R SRR EE(H )= (91.46037+91.46037)*2-8*4+2*13.89=361.6 | 28.93
[; (Int(80/10))*361.6/100=28.93 M
BHEBEHRER-KTERE | XOKE)AEEGHIE)= (91.46037-2*[{R&E14+2* 135 &
</ (1G] $4]13.9)*4=445.0
Y(EE)ERE(HTE)= (91.46037-2*[{R#[B)14+2*[135 R &
$4]13.9)*2=222.5
#4 Bi5-ETig #4 - T iRBE= Int(((380-80)/2)/10.0)+1=16 106.8
</ Tk K= (445.0+222.5)*16/100=106.8 M
#4 Bip-hRih #4rh R IHEIE0= Int(((380-80)/2)/15.0)+1=11 734
<7 th iR = (445.0+222.5)*11/100=73.4 M
#4 B n-REE HAR B = 48 K =(445.0+222.5)*Int(80/10)/100= 53.40 M 53.4
BERTE:

EEA T (#R1)18-48 ($H2)X-#X
REHER:(HE1)22-410 ($82)X-#X
{BiEAREE(1)#0:10-8*18%
EERE(2)M:10-T4%
BhARETE:
F AR [B AEER]374.2*380/10000=14.22 M2
BRI IO
%:1i8:-(B31) 50*60/10000=0.30
%:2;8:-(G44) 50*80/10000=0.40
LLE/NE0.70 M2
FERRE IR IR IO PR
%:2i%:85.10%16/10000=0.1362
%:3i%:40.00%16/10000=0.0640
%:4i%:30.00%16/10000=0.0480
LL_E/NEH0.2482 M2
NS BRI
LL_E/NEH:0.00 M2
$§HJ:2+$§:§+:14.22-[*.-’51%%&?&]0.70-[&#&x*#%]o.zs-[ifi%i**%]o .00=13.27 M2
RC:Et&E:
[E B4 #mFE]8365.0380/1000000=3.179 M3
-------------- FHEMER /N
Mt EHER:
#4=360.175 M (360.175 M*0.994/1000= 0.3580 T)
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#10=83.600 M (83.600 M*6.390/1000= 0.5342 T)

ARR/NET =0.8922 T

BAR/NET(E) = 13.27 M2
SR /NET = 3.179 M3

PNA21-01-#8&: 1F , #4L5%: C39, I EF%:

cm2 , #5:380.0 cm

E# AR R~:88.5cm * 88.5cm

68 [X12:+178,Y7:-59] R+t (B B4): BHE361 cm Eim#E: 7827

#10 EH(E14A-—ARE): (380+0)*20/100 76.00
| FEHEE(Lg)(1EE
[#E#=0])
#4 SV - £ T i SMERE(H )= (88.47034+88.47034)*2-8*4+2*13.89=349.7 | 55.95
g £ THEEIE= Int(((380-80)/2)/10.0)+1=16
+ TFHE#E K= 349.7*16/100=55.95 M
#4 SN - R SERE(H )= (88.47034+88.47034)*2-8*4+2*13.89=349.7 | 38.46
E; rh SR 5 B 8= Int(((380-80)/2)/15.0)+1=11
bR fERE R = 349.7*11/100=38.46 M
#4 HNER-RE SRR E(H )= (88.47034+88.47034)*2-8*4+2*13.89=349.7 | 27.97
E; (Int(80/10))*349.7/100=27.97 M
BHEHRR-KFERE | XOKF)ARE(FRE)= (88.47034-2 [{REE4+2*[135EE
</ (=G $4]13.9)*4=433.0 )
Y(EE)ERE(HHAL)= (88.47034-2* {RHB]4+2*[135 R &
$113.9)*2=216.5
#4 BE- LT #4 & T i B 8= Int(((380-80)/2)/10.0)+1=16 103.9
<7 +Fig#E K= (433.0+216.5)*16/100=103.9 M
#4 SR HR-P R #4rh R B BL= Int(((380-80)/2)/15.0)+1=11 714
<7 rhRif#E K= (433.0+216.5)*11/100=71.4 M
#4 BH-RERE HAR B [EHE K =(433.0+216.5)*Int(80/10)/100= 51.96 M 52.0

s R

R (E1)16-#8 (FH2)X-#X
ARBHETH:(HE1)20-#10 ($H2)X-#X
1EERE(1)#0:10-8*16%
TEERE(2)M:10-T4%

BhRETE:

F %[ B H4E5E £]360.8*380/10000=13.71 M2

HEEER RO

%:158:-(B31) 50*60/10000=0.30
5:258:-(G45) 50*80/10000=0.40
LLE/VET:0.70 M2

HEMRE AR MR O PR:

%:158:62.40*16/10000=0.0998
%:45%:30.00*16/10000=0.0480
LLE/NVET:0.1478 M2

RS E AR RO PR:

Ll E/NEH0.00 M2
R AEET:13.71- (4R 3 $£]0.70-[4E R 3 $£10.15-[4E 5 3 £10.00=12.86 M2

RC:tH&E:

[B B+ & #&]7827.0*380/1000000=2.974 M3

-------------- FHERN

M EER:

#4=349.710 M (349.710 M*0.994/1000= 0.3476 T)
#10=76.000 M (76.000 M*6.390/1000= 0.4856 T)

$MRR/NET =0.8333 T

BAR/NVET(E) = 12.86 M2

RAELT/INET = 2.974 M3
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